Linear Equation in one vaps
variable gnd two varighle

) TR
Past Year Questions

2 ay 18
=3, then the respective pg

M 12 =gy

12) b (1,-2)
¢ (L%)

lues '
of x and | -
;f /1“’ ¢ — (8) A plumber can be paid either Z 600 and Z 50 per
: 1,_2_ b. 1 1 g hour or Z 170 per hour. If the job takes ‘n’” hour,
: 2’ for what value of 'n’ the second method earns
i = 1 d. None of these better wages for the plu
282 4. 5 -
2 : 5 PYQ May 18 g 2k = =
¢ f—t—=-1gpg 1 1 4
X+y x-—i X+y x-y 3 9)  The solution lowtng system of linear
then (x, y) is: i equations =0and 2x+y—8=0will
a. (2,1) b‘ (1 2) be: » \
L - O S
PYQ Nov. 19 N\ ’
3) 2.\'+5+3x+1()_5 o
10 5 uman
a. 10.58 b. 9.58
C. 9:5 d.  None of these

PYQ Nog,gg‘

2 Find value of x* —10x+1 if x = !
5-26
a. 25 b. 1
C. 0 d. 49
Note: Que to be shifted to Quadratic Equation Topic MTP May 18
PYQ July 21 1 3 E ; = 7

(5)  The cost of 2 oranges and 3 apples is % 28. If the

X cost of an apple is doubled then the cost of 3
oranges and S.applesds T 75. The original cost of
7 oranges atid 4 apples (in () is:

y 11 13 15 17

In the above table corresponding values of two
variable x and y have been given. Which of the
following equations establishes the relationship

& 59 g between the two variables?

& Z1 AR PYQ Dec. 21 a.  y=3xt2 b. y=2x1
(6)  In amultiple choice question paper consisting of c s L i;;lp Now 20
¥ 100 questions of 1 mark each, a candidate gets @) If2x -3y~ 1 and 5x-+2y = 50, then what zst—};e

60% marks. If the candidate attempted all s value of (x-2y)?

questions and there was a penalty of 0.25 marks o e g

for wrong answers is: - 7 d 10

a 32 b. 36

c. 40 d. 38

Mcq Compiler CA Foundation Maths, LR and Stats [FRRLCl g 0 t -: j ?__
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Xyt

@  The value of 'k ‘for system of equations kx+2y =
st 5and 3xvy =1 has no solution s;

a5 b, 2/3
o 6 g 82

(5)  The cab bill is partly fixed and partty varies on
st the distance covered, For 456 km the bill is ¥
8252, for 484 km the bill is Rs. 8728, What will

the bill be for 500km?
a. 8876 b, 29156
C. L9472 d, ¢9000
3 MTP Oct 21

(6)  The point of intersection between the lines 3x4
dy =7 and 4x <y = 3 lic in the

a 1 quadrant, b, 2 quadrant,

c 3 quadrant d. 4" quadrant,
d&n MTP OW
) T~

If 1+ 25 =, then x is R -

a' Q

c.

MTP June 22

(8) If2* = 2 «/_ 8 then the respective values of

xandyare __

a. 1, % ; b. %1
() %, d. none of these
ﬂ ' MTP Dec 22 Series I
) 2245 L3x+10
10 "5 =5 then the value of x

4 1058 b 958
. d Noneo these

105,210 420 b,

10@205400
- 95,215,395

d. None of these

CA. Pranav Popat

‘~-m. 62 b, 26

)
3)

*r

)

()

/
/ MCQ Compifer ca Foundation

(1)

Waord Problems on Laual

Past Year Question

If the sides of an equilatergfhgangle %
shortened by 3 units, A :
respectively and a rig
the side of an ¢

¢ is forme
ra rtangle is:

w

\ Find the number

¢ 39 d. None of these
If a person has cloth of total 91 em. If he divi
it into 3 parts then longest part is twice the
shortest one and another part is 3 cm more th
shortest one. What is the shortest one?
. 25 b. 44

. 22 d. 46

If the cost of 3 bags and 4 pens is 257 wher
the cost of 4 bags and 3 pens is ¥ 324, then t
cost of one bag is:

a. 8 b. 24
C 32 d. 75

The largest side of a triangle is 3 times the
shortest side and third side is 4 cm shorter th
largest side. If the perimeter of the triangle i
least 59 cm, what is the length of short
a.  Less than 7 cm

b. Greater than or equal to 7 em-
. Less than 9 em ¢
d. Greater than or equal to 9 cm
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Mo Compiler CA Foundation Maths, LR and Stats
{

[

1)

2)

@

@

age of a man is four times the sum of the
ages of his two sons and after 10 years, his age
will be double the sum of their ages. The present
age of the man must be

a. 56 years b. 45 years
60 years d. 64 years
Answer Key
¢ 2 b 3 ¢
4 d 5 d 6 ¢

Word Problems on Equations

Mock Test Paper Questions

MTP May 18
A number consists of two digits. The digits in

tens place is 3 times the di Qit in the unit's

place. If 54 is subtracted from the digits are
reversed. The number is

a. 39 b. 92
e. 93 d 94
MTP Nov 18

A number consist of three di it of which the
middle one is zero and the sum of other digits is
9. The number formed by interchanging the first
and third digits is more than the ori Qinal -
number by 297 find the number?
a. 306

e} 603

b. 4309

d.. 307
.4 MIPNov1s
The age of a person is twice the'sym of the ages
of his two sons and.five years ago his age was
thrice the sum of their ages. Find his present
age.

a. 60 yenrs b. 52 years
C. 5T years d. 50 years
MTP May 19

Ten years ago the age of a father was four times
his son. Ten years hence the age of the father will
be twice that of his son. The present age of the
father and the son are

a. (50, 20) b. (60, 20)
c. (55, 25) d. none of
these

®)

(6)

@)

8

C)]

(10)

CAPRANAV

/ Equations

5 chairs and 3 tables cost of €350, and 3
Chairs and 5 tables cost %370, What is the
cost of the table and two chairs?

b. %120

from twice his present age, the result would
be equal to his present age. Find A’s Age

a.
(65

9 b. 8
10 d Sl S
W MTP May 20

The sum of two nu 2 and their
product is 960°The stim of their reciprocals is
a N7 b 29
¢ J61 d 41

MTP May 20, ICAI SM

Three persons Mr. Roy, Mr. Paul and My.

Singh together have Z 51. Mr. Paul has 4

less than Mr. Roy and Mr. Singh has got ¥ 5
less than Mr. Roy. They have the money as.

]

b
e
d

(20,216, 215)
(15, %20,%16)
(25, %11, T 15)
none of these

MTP May 20, ICAI SM

The wages of 8 men and 6 boys amount to ¥
33. If 4 men earn % 4.50 more than 5 boys
determine the wages of each man and boy

a.

b.
¢
d.

(1.50,%3)
(3, ¥1.50)
(2.50,%2)
(22, ¥2.50)

MTP Now 20

The cost of 5 mangoes is equal to the cost of 20
oranges. If the total cost 2 mangoes and 10
oranges is T 22.50, find the cost of two

oranges.
a. <£1.25 b. %2:50
c: 23 d. 350

= 7 =
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> same amount. What is the price of

<1848 b. ¥840

| 21680 d. %3360
Note: No ans is matching with the data of que, correct
answer is ¥543.52

(12)  On the average an experienced person does 7

units of work while g fresh one work 5 units of
work daily but the employer has to maintain
an output of atleast 35 ynits of work per day.

The situation can be expressed as:
a. 7x+5y<35
b. 7x+5y <35 (19)
' & 7x+5y>35
d. 7x+5y 235
Note: Shift to er3
__‘ ‘ ‘_ MTP Nov 21
(3)  Xand Y have their present ages in the ratio
* 6714 years 4go, the ratio of the ages of the
two was 4:5. What will be the ratio of their
ages 21 years from now? 4
a. 761 b. 9: 10, — b
5 11 d L3N g

- MTP Dec 22 -
(9 Aman wants to cut three lengthstfrom d’éjngle
*  piece of board of length 91 cm, The Setomd
length is to be 3 cm longe rtest
and third length is to be 1€ as the shortest.
the shortest

o™

What is the possible length for"
piece?

b. 20
d 18

N MTP Jun 23 - Series |
If thrice of A’s Age 6 years ago be subtracted
from twice his present

age, the result would pe
equal to his present age. Find A’s present age.

a. 7 b. 8

; ST,
- * MTP Jun 23 - Serips |

(16)  The cost prices of 3 pens and 4 bags is 324,

(15)

and 4 pens and 3 bags is 2257, then cost price
of 1 pen is equal to
a. T16 b. Z18

# & 50 d %75

CA. Pranav Popat /

-

s)

The sum of the tipg Numbers js g -
of their squares i 34 Taking one I
from an equat

o1 in x gng
numbers. The Numbers &
a.

. \ >

J: beadied to pogy g7, fraction b
gﬁ/“ﬁnd the fraction,
a. 12 b. 18
17 7
e il d. None of
3 these
If difference between o number and its posi
square root is 12; the numbers gre »
a. 9 b. 16
c. 25 d.  Noneof
these
AnswerKey
1 c 2 a 3 4
4 a 5 a 6 a
7 a 8 a 9 b
10 b 11 b 12 4
13 b 14 a 15 ¢
16 d 17 d 18 ¢
19 a 20 b

— E‘ =
i PEE ¥
MCQ Compiler CA Foundation M’:'t
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¥ -2x-3=0
¥ +2x-3=0
X +2x+3=0
¥’ -2x+3=0

d.

@) If a,p are the roots of the equation
2 "p2
> +x+5=0 then %4—% is equal to

a. E b. 2
5
¢ 3 d. " 14
_— :

PYQ Nov. 18
(3) Letaandﬁ be the roots of x* +7x +12=0.

Then the value of (—ﬁ— + ﬂ—] will be:
(a4

a7 12 b 49 144 N
{2 7 144 49 o=
c. 4 d.  None ofihese ‘(‘
12 -

e LN 2
When two roots ofquadratm equhtmm are &~

then what wzll be the quadrati&gquatwn

PYQ June 19
(5) Fmd the condition that one roots is double the

other of ax’ +bx+c=0

a. 2b* = 3ac b. b’ =3ac
2b” =9ac d. 2 >9ac
: PYQ Nowv. 19
6)  Find the value of Kin 3x" = 2kx +5=0 if
x=2
a. 17/4 b. -7/14
@ 4/17 d. -4/17

m works out to:
a. 1/25
&

-

b 14
d. +8

o irTE
(U\Jf the quadratic equation x* + px +q =0 and

X" +qx+p=0 have a common root then

M prg=?
a. 0 b 1
(5} -1 d 2
e

(12)  The harmonic mean of the roots of the equation

g (5+«/_)x —(4+\/_)x+8+2\/_ =0is
a. 2 b. 4
¢ 6 d 8

(13)  Ifa and B are the roots of the equation

¥ 2 +5x+k=0,and 4o’ + B +ap) =23,
then which of the following is true?
a. kK +3k-2=0

b. K -2k+3=0
e kK -2k-3=0
d kK -3k+2=0

B
(14)  The sum of square of any real positive quantity
s and its reciprocal is never less than;
a 1 b 2
& i d 4
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d. 6p’ =259

~ PYQDec
What will be the value of k, if the roofs ¢
equation (k—4)x" —2kx +(k+5 jire

C equal?
I' a 18 l< ?
| d. Rl
g PYQ Jun 23

e
a9
r

M If & and p are ro ¢ quadratic equation
& =2x-3¢0herthe equation whose roots
ﬁ.—- are o+ fand o~
. 4 18 a, 20
. 19 ¢ 21

B : PYQ Jun 23

‘2 If a and fare roots of the equation

o ¥ —(n? +1)x+-21-(n‘ +1' +1)=0 then the
 valueof o + 7 is;
c znZ

=
S

A,

259 b pi=6q N

Problems on Quadratic Iguati A

Mock Test Paper Oucctions

e =3

M e g G4 v+ 20501
roots. @ fP e |
a. y 2 .

(2} 2 d 9

(2)\Let o and f be the roots of equation

Sx? 4+ 7x+12=0, then the value of (a; !
will be
a. 49 144
— + —_—
144 49
b. 7. 22
— e —
125
o 1

12
d. None of these
Note: Repeat PYQ Nov 18
- M
(3)  When two rools of quadratic equations are @

and 4 then what will be quadratic equa ion

43
. ax’ (&> +Dx+a=0 ]
b. ax’ —a’x+1=0
. ax? —(a? +)x+1=0

d.  Noneof these
Note: Repeat PYQ Nov 18

@) If o and p be the roots of the equationt
2x% —dx~3=0 the value of ol +plis
a5 b. 7 |
¢ 3 d
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b x*+4x+1
d. None of these

The roots of the quadratic equation x* — 4x + k

= 0 are coincident if
a. k=4 b.
RN =2 d.

(8)  The roots of the equation x2 + ( 2p—1)x + p 0 ‘

are real if.

a. p21 b. p<4

(& p=1/4 d p<%
Note: Type in MTP
llliﬁllﬁfffl, MIP Nov 20

(9)  The roots of the quadratic equation
9x* +3kx +4=0 are equal if

a. k=4%2 %’f;;i
Lo e \
c. k=+4
d k=315 4

(10) I one root of a equation is@, then the
quadratic equation is N\

2. x2+4x—g=0

b, x?—4x—

¢:

d

(I1)  If one root of the equation x* —3x +k 0is 2,
then the value of k will be
a -10 b. 0

(& 2

(12)  If arithmetic mean between ro0ts of a quadratzc
¥ equation is 8 and the geometric mean between
them is 5, the equation is
a4 x-16x-25=0 b x'-16x+25=0
¢ X+16x+25=0 d. None of these

QY B

CA. Pranav Popat

Stats /

Note:

Repeat Que 11 M 'MarZ‘i" o

15) If arithmetic mean bet

re dottble that of the equation

x* +10x+12=0. What is the value of m + n?
) ‘ a. 104 b. 204

102 d. 202

e f it

(7)) Ifaand Bare Hhe roots of the equatzon % +7x
+12 = 0, then the equation whose roots

(e + B and (o — B) will be
a.  x'-14x+49=0

b X -24x+144=0
C. x* —50x+49=0
d. x* —19x+49=0
a8 Given the Quadratic Equation £+—l—i- = é
x x+1 2
a. 1 and -2/3 b. -1and2/3
e -1and-2/3 d. 1and2/3

Note: Ans wrong in MTP, Correct Ans is Option a

(19) The roots of equation 9°* 6.3 +1=0are

a. -2 DI

¢ 2 d 0
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0 14 b
& Y17 d. -4/17

dcsidl] m‘gﬁangtmﬂuﬂher |

.-!’ Mﬁndfh‘QlMdr on,
B re ’ ﬂ'qml'l i P £ -4x+ i Ilfh
120 hn e caustion s - 4, d ' sdxse

: <"" and (@~ B will be: .

SR t'-ﬂl’#ﬁﬂa 30) [f[hg rog @v 4)x" ~ 2kx +(k +5) =0
R X -24x+144 =0 coi t the value of K?

¢ ¥ =50x+49=0 4 b. 20
d 2 -19x+144=0 d 2

C,
Note: | - Q17 MTP Nov 21 Answer Key
“_ MTP March 22 X 2

c 3 a
(23)  Roots of the equation 2x’ + 3x + 7 = O are o and ™ i b 5 3 s
P then the value of afp ' + par ' is w T 7 a 8 d 9 é
% 2 b, 3/7 ' 10 b I 12 b
¢ 7/2 d -19/14 V: 13 ¢ 14 ¢ 15 b
- ?’D 16 b 17 ¢ 18 b
(24)  If the ratio of the roots of the equ : 19 a 20 a 21 a
4 ~6x+p=0is1: 2 then eof pis: 22 ¢ 23 d 24 a
a 1 25 a 26 ¢ 27 ¢
¢ -2 A ¢ 28 a 29 a 30 b
Note: MTP Ans is wnm Correct Option is b
s MTP June 22
25) If roots 0/ CPTion B+ x + r= 0 are o and f and
@’ +f =8 Findthe value of v’
4 53 b 73 Problems on Cubic Equations
: -4/3 d 1
e MIP Dec 22 - Serips 1 Past Year Questions

| J
26) Ifone root is 5,741 924 yis 0 be reciprocal of

PYQ A
:he atht';, then the valye of yis (1) Roots of the equation x* +9x* — x -9 =0,
s i . 1,23 b. 1,-1,9
/53 I
g. & i L 2.3 -9 d. 1,3 9

@) The valye of 'k’ is — if 2 is the root Of the
Jollowing cubic equation: x* —(k+1)x +k =i

b. 6
d 4

Compller c4 Foundation Maths, f
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Problems on Cubic Equations

Mock Test Paper Questions

ifa,p,yare the roots of equation
 —4x* +x+6=0 then the equation having

1]
roots are —,—~,—18
apy
a. 2 =4’ +x+6=0 O
b 4 -6x"+x-1=0
c 6x’ +x° —4x+1=0
d. 6x —x*+4x-1=0 \
Note Out of syllabus — you can leave this. \’&jﬁ
— MTP May19 »
(2) If"=5m+5'"3, then 5x° —15x is given by \/ ¥

0 25 b 26 _
C. 27 d. 30 §
(B) (x+4)is a factor of x* +4x° - ay—}xEZL

%  Also,a+b=29. Find the val%o %

g .7 b |
c. 22 d.
MTP’)ec 22 Series I
4)  Roots of the equatiofi®het 9x° =X~
S Ly Y b L 1 9
(& 2,389 4 1,39
er Key
1 ¢ 2 b 3 ¢
4 b

I MCQ Compller CA Foundatio”
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Outside of OAB
ABCE
A ABE

A

Qe S

inequalities %) 5x+y>1g x @ 122x+y>10
x+y<60,x>0,y>0, we get the j jitequalities; we get
ﬁﬂowmgsolutzon 7l ,0),(4,2),&(7,6)
a.  (0,0),(20,0),(10,50) & (0, 60) b 0), (0 3), (4,2),&(7,6)
b (0,0),(60,0), (10, 50) & (0, 60) 5 0) ) 10), (4, 2), & (7, 6)
: gg 0), (23; 0), (0, 100) & (10, 50) A %0, 18),(12,0), (4, 2), (0,0), & (7,6)
oneo ese : SRR )

e19 . Sol g or x o the inequalities
) An employer recruits experienced (x) and fresh ; 1’;{ 2 / :
2<

workmen (y) for his under the condition that he

<4 where x <N
cannot employ more than 11 people. x and y can

related by the inequality. ﬁ \ Y ‘ (56,7}

o x+y=ll b {3,4,5,6}
b. x+y<11,x20,y20 P a {4,5,6}
c x+y211,x20,y20 .

d

None of these d. = ‘None Of these S

LS

®) The‘common regzon in the éraph of the

(4)  The solution set of the equationsyx +2 > 0 and
2x—6>0is inequalities X+y<d,x-y<4,x>2 is
a. (=2,) . (3,0) * ‘
c. (—o0 4 (~0,-3) a. Equilateral triangle
? b. Isosceles triangle
X & Quadrilateral
d.

Square

9 XYZ Company has a policy for its recruitment
as: it should not recruit more than eight men (
X to three women (y). How can this fact be
expressed in inequality?
a. 3y >8x b, 3ysx/8
c. 8y =3x d. 8y<3x

4 COMpIIer CA Foundation Maths, LR and Stats || o107 Popat /ﬁ ¢
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X, =2 % +x, >24% 20,%,20
IS 2 X xtx, <402 0,x, 20
aEr e 2 a0 > o > 0,0, >0
e S ORE X, 24 20,x, 20

(11) [f2x+5>3x+2 and 2x —3 <4x -5, the ‘x’
can take which of the following value?

e, 4 b.
C. 2 d.

-4
-2

In a garment factory, an average experienced
tailor can stich 5 shirts while a fresh tailor can
stitch 3 shirts daily, but the employer has to
maintain an output of at least 30 shirts stitched

per day. This can be formulated as-
. 5x+3y<30

(12)

b. 5x+3y>30
c 5x+3y=30,x20,y20¢
d. 5x+3y<30,x20,y
e -9 TR
BT . N PYQun23.
(13) A fertilizer company produces fwo types of

fertilizers called gtade I and grade I1. Each of
these types is 'ﬂgycéé’@,eﬁ&t'ﬁ%u ¢h a critical
chemical plé’nt unig;.g@?re plant has maximum of
180 hours a%gjggl;lg in a week. Manufacturing
one bag of gra;lﬁ fertilizer requires 4 hours in
the plant. Manufacturing one bag of grade I
fertilizer requires 10 hours in the plant. Express

this using linear inequalities.
a. 2+ 506, = 180

b. 4x, +10x,> 180
3 2x, +5%, > 180
d. 4x, +10x, <180

_@ CA. Pranav Popat

Linear Inequalities

Mock Test Paper Questions

.s in the form oflineﬁ' _ < d

x+y<100,4x+y <100,x20,y20
+y$1000,2x+5y<100,x20,y20'
x+y>100,4x+y>100,x>0,y 20

none of these

RO S R n

The Solution of the in equality
8x+6<12x+141is

o (22 b.
d.

(0/ ’2)
(-2, =)

The rules and representations demand that

employed should employ not more than 8

experienced leads to 1 fresh one and then fact

can be expressed as

a.  y=x/8 b.
8y=x d.

)

C.

On the average experienced person does 6 units
work while A person 2 units of work daily but
employer has to maintain as output of at least 24
units of per day. This situation can be expressed
as

a. 6x+2y<24
c. 6xt2y>24

b. 6x+2y=24
d. 6xt2y#4

—eeee——————

MCQ Compiler CA Foundation Maths, LR and Staztfw
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ces fwo products AandB,

quires processing in fwo

;. The first machine can be used at most
15, the second machine can be used at

hours. The product A requires 2

on machine one and one hour on machz‘ne\

product B requires one hour on

chine one and fwo hours on machine fwo.

s above situation using linear

- ineq lities
4 2x+y<60 and x+y 2
b 2x+y260 and x

2x+y <60 and x+y<s40
2x+y 260 and x+y<40

g vtl;einequaliﬁe32x+5y520, 3x +
=0,y <0, we get the following

), (0,;3, (g, 0) and (20/11, 36/11)
™ 3 ), (0, 6) and (20/1 1,36/11)
%(0,4),(4,0) and (2, 3)

g

Which one is correct?
a.  Only(i)
: . b.  Only(ii)

)

& X =
.m er ; 5
18 RN
W i Sl S

(14)  On the average, experienced pern does 5

(15)

(1) The s

(12) The solu

=R P
FET . T

(13)

5x
none of these

olution set of the equag )
6>01s

: W
&

@ ¢ Of the inequalities 2x +;

includes origin
includes the point (4,3)

(" SRS 4"

10

1

c. Both (i) and (ii)
d. None of these

TR

i
e

The solution of the inequality (o <2

s

a x28 b x2=8§
=8 __d._None of these_

Tl

of work while a fresh one 3 units work daily by
the employer have to maintain the output of'
least 30 units of work per day. The situation ca
be expressed as. .‘
a.  5x+3y<30 b, 5x+3y=30

c.  5x+3y=30 4. Noneofthese

Solution space of the inequalities 2x +y < 10

and x-y < 5: ]

( l) Includes the origin

( zz)..Includes the point (4,3) ;

Which one is correct? i

0 :

; gnly (i) b. Only(i)
oth (i) and (i) d. None of a bov

y/

b
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k wﬁﬂm fresh one 3 units of work dézly; :
he employer have to maintain the output at

 Jeast 30 units of work per day. The situation can
be expressed as ‘
. bSx+3y<30 b. 5x+3y=230
C. 5x+3y=30 d.  None of these

Note: Relpeat
as only T 5760 to invest i fans (x)

(18) A dealer h
machines (y). The cost per unit of

and sewing
n and sewing machine is 7360 and < 240

respectively. This can be shown by:
360x + 240y > 5760

360x + 240y < 5760

360x + 240y = 5760

none of these

inequalities 5X +Y < 100, x S,
he following situg‘tim‘z;’z
0), & (060

= =

C.

(19) On solving the
60, x20,¥20, we get t
(0,0), (20,0, (10,5

a.

b, (00)( 60,0), (10,50), & (0,60)
e (0,0), (20,0), ( 0,100) & {;10,.5@)’
d. none of these ) »

v 4
h

Note: Repeat e
'y VTP March 22

0) The rules and regulations demand that the
employer should erﬁ‘pﬂbﬁﬁwt more than 5
] " o and this fact s
1ced person a5 %

eweriencc%?ﬁzsidsdo*ﬂ fresh on

reprcsented (Taking experiet
and fresh perso’t asy)
g 5ys X
a. vz % Y
5
c S5y2% 4. noneof these

Note: Repeat

- (23) px+y218x+4yY

' Note: Repeat PYQ Nov 19

24)

a. AABC
c. ABCE

ey #11
x+y£11,x20,y20
x+y211,x20,y20

none of these

>12,2x+Yy=2

the inequalities; We get: ,
(0, 18), (12,0), (4, 2)&(7,6) H

a.
p (30,003 4,2)&(7,6)

G (5, 0), (0,10), (4, 2)&(7,6)

i (0,18), (12 0),(4,2),0,0& (7,6)

der two methods givent

A Labour can be paid u

below :
s (i) %600 fixed and T 50per hour

(ii) Z 170 per hour ,
If a labour job work takes ‘r" hours 10 complete,
ud out the value of T for which the method (i)

gives the Jabour gets the better wAZES:
b = il Ly “1;
r I

a. x=6 2
x=3 4 x=2

C.

.e'r__l B
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X + > 10, we get the following sit
b 60,0342
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Interest and Compound Interest

Past Year Questions

 be invested at interest rate of 5% and
the interest be added to the principal every 10
% years, then the number of years in which it will

amount to 2,000 is:

o 1
6— years 6— vears
1639 Y

c. 16 years d. 6 2 s

PYQ M rjlf/]
@) A person borrows % 5,000 for 2 years at 4% per
annual simple interest. He immediately leads to

1
another person at 62 % per annum for 2 years

find his gain in the transaction for year:

a. <112.50 b. %225

e <12 d. 10750

~ PYQMay18

(3) Ifanamountis kept at S I zt earns an interest of,

600 in first two years but when kept at G,

compound interest it earns an interest of 4 660

for the same period, then the rate of mterest and

principal amount respectwely are"" )

a.  20%, % 1,200 )

. 10%, %1,200

d / 1, 500
PYQ Nowv. 18
@ If10, 000 is invested at 8% per year
compounded quarteﬂy, then the value of the
investment after 2 | jelzrs is:
(Given (14:0 02)' £1:171659)

a. Iy 71659 b. ¥10,716.59
c. 117.1659 d.  None of these
I PYQ Now. 18

()  Abank pays 10% rate of interest compounded
annually. A sum of T 400 is deposited in the
bank. The amount at the end if 1 year will be

a. <440 b. <439
G, 441 d. 3442
—_—

1CQ Compiler CA Foundation Maths, LR and Stats | " CA. Pranav Popat

he will get -
a. 38,800

e <9200

erest at the rate of
nuglly, then the value of r

1 % is compoua
will be

b. 10%
d. 14%

faip sum of money Q was deposited for 5
years and 4 months at 4.5% simple interest and

Wy, v~ amounted to ¥ 248, then the value of Q is

| Z210

« N 2200 b.
Y ¢ ?220

10) If compound interest on a sum for 2 years at 4%
per annum is T 102, then the simple interest on
the same sum for the same period at the same
rate will be
2. 1299 b. 2101
c. 2100 d. 295

(11)  If the difference between the compound mterest
compounded annually and simple interest on a
certain amount at 10% per annum for two
years is T 372, then the principal amount is

a. T 37,200 b. ¥37,000
@ 337,500 d. None Qf t_@e‘se_i
Repeat Jan 21 - PYQ | Nov. 18

(12)  The effective rate of interest for one year deposit
corresponding to a nominal 7% rate of interest
per annum convertible quarterly is
a. 7% b. 7.5%
¢ 74% d. 7.18%

41
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b, <3,500
d. Noneo these

: the éte of interest for first year is 9%, 2
- i56% amz' 3 year is 3% p.a. respectwe

a <250 b.
&, 7462.16

PIR
® P=35000R=15% T= 4 yuszng 1—100

b. 23,300

d.  Noneo these

- PYQ June 19

9)  The effective rate of interest does not depend
upon
a. Amount of Principal

b Amount of Interest

c Number of Conversion Periods

d. None of these

IfP i* =% 96, and R= 8% compound

annually then P =
a 214,000 b. 15,000
c 216,000 d. 217,000

- SR MCQ Compiler CA Foundation Maths, LR and$
T R e

% /&“‘“

a: ? 8]000
e T14,000

(23) The difference in sinp V st of a
invested of T 1480 ,

difference jnsthe
e
C. o 0 Nt

(4) Find the effective rate of interest on ¥ 10,0pp .
which interest is payable half yearly at 5
a. 5.06% b. 4%

% (25) Find the eﬁ‘ectwe rate of interest at 10% pa.
when interest is payable quarterly
a. 10.38% b. 5%
c 5.04% d. 4%

(26) - What wzll be the populutzon after 3 years when
present population is ¥ 25,000 and population
increases at the rate of 3% in 1 year, at 4% in
20 year and 5% in 3 year?

a. $28,119 b. ¥29,118
c. <27,000 d. ?30 000

(27)  The value of scooter is ¥ 10, 000 ﬁnd zts value
after 7 years if rate of depreciation is 10% p.a.
a.  ¥4782.96 b, ¥427869
@ %42,079 d. %42, 000

3 g IJ,‘

(28)  SI=0.125P at 10% p.a. Find time.
a.  1.25years b. 25 years
2} 0.25 years d.  None of these

Scanned with CamScanner



% find princiy
b. 4,800
d. <8200

(31)  Onwhat sum will the compound interest at 5%
per annum for 2 years compounded annually be

¥3,280.
a. 32,000 b. 16,000
c. 48,000 d. 364,000

(32) An amount P becomes ¥ 5,100.5 and ¥ 5,203
after second and fourth years respectively at 1%
of interest per annum compounded annually.
Thus value of P and R are:
a 34,000and 1.5 .
¢. <6,000and?2

Z5,000 and 1
d 5, 500 mzd 3

(33) A certain sum invested at 4% per annum
compounded semi-annually amounts to ¥ -
1,20,000 at the end of one year. Find the, sym
0. 115340 b. 11012 0‘

c. 1,12812 d.

 Repeat Jan 21€pYONG®, 20

(34) Find the compound mteresm}"A @an‘munt of ¥
50,000 is deposited in bank for‘one year at the
rate of 8% per annum compou}ﬁded senti-
annually. L\

o 33080, \/ Vb 4,080
R N 4 7785
T PYQ Nov. 20

(35)  Anamount is lent at a nominal rate of 4.5% per
annum compounded quarterly. What would be
% the gain in rupees over when compounded

annually?

a. 0.56 b. 045

(4 0.076 d. 085
——

~ Time V

0.1777
0.1666

to 840 at 4%.
ple, find the sum-
b. 550
d. 500

d the L if an
it,0f T 50,000 is deposited in a bank for
one year at the rate of 8% per annum
compounded semiannually
a. 3,080 b. 4,080
c. 545 d. 7,856

(40)  The populatzon of a town increase by 2% of the
population at the beginning of the year. The
number of year by which the total increases in
population would be 40% is:

a. 7 years
b. 10 years
C. 17 years

d. 19 years (approx.)

(41)  Two equal amounts of money an depos:ted in
two banks each at 15% p.a. fix 3.5 year in the
% bank and fix 5 years in the either. The difference
between the interest amount from the bank in ¥
144. Find the sum
a. %620 b. 2640
c. 820 d. 3 840

T TN e

(42) The s:mple interest on sum at 4% p a. for 2
vears is T 80. Find the CI on the same sum for

the same period.
a.  81.60 b. %80.80
¢ <8320 d 28230

‘mm CA Foundation Maths, LR and Stats / CA. Pranav Popat 43
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at simple interest at r% p
amounts to T 16,510 at (r +,
interest in the same time:

r?
o 10% \ 2 8%

c. 12% & ) N4 6%
What is % ente (in <) between the
inte helCompound interest on g

2
Z 8,000 for ZE years at the rate of 10% p.a.

| intvested one-third of his capital at 7%
ourth at 8% and the remainder at 10%. If
nnual income is ¥ 561. The capital is - (52)
, 24,400 b. 5500

c 26,600 d. 5800

(46) A sum of money is lent at C.I. rate 20% p.a. 2 \whcn the interest is compounded yearly? ' ,

years. It would fetch T 482 more if the interest \ a. 136.12 b. 129.50

is compounded half yearly. The sum is: e, 161,75 d.147.20 '

a 19,800 b. 19,900 \ ~ :

c. 220,000 d. 20,100 - (53) A sum of 2 x amounts to ¥ 27,900 in 3 years.
3 and to ¥ 41,850 in 6 years at a certain rate 1

What ‘I’ denote the actual rate of interest percent per annum, when the interest is

decimal, and n denote the number. compounded yearly. The value of x is:

periods, the formula for computi a. 16,080 b. 18,600
rate of interest E is given b c. 18,060 d. 16'800
a. (1+1) bNg1+i) -1 b b
C 1-(1+i) d +i)" (54)  Rahul invested ¥ 70,0007 ;r; a ba t the rate g
” '  PYQJuly21 6.5% p.a. simple interest rate. He received &
) The eﬁ."‘h te Offeturn for 24% per annum 85,925 after the end of term. Find out the peria
convertibleg monthjpis given as: for which sum was invested by Rahul .
) .
a. 2400 b. 26.82% a. 2 years b. 3 years
(8! 18% d.  24.24% _ C. 3.5 years d. 2.5 vyears
(49 What is th ) : — S —
e cumplound interest (in %) on a sur (55 A company needs ¥ 10,000 in five years to
of R12,600for 1 years at 20% per annum if replace as equipment. How much (in ) should

be invested now at an interest rate 0f 8% p.a. 1

the interest i
est 1s compounded halfyearly ? order to provide for this equipment?

(Nearest to a rupee)

a. 6,000 b. 6,80
a 4271 b. 4,171 C. 10,000 -
& 4711 d. 4,117 I —

CA Pranav Popat
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(57 Anamount is lent at R% simple interest for R
years and the simple interest amount was one-
&  fourthof the principal amount. Then R

1S
a 5 b. 6
c. 51/2 d_ 61/2

(58) A sum of money s put at 20% compound
interest rate p.a. at which year the aggregated
s  amount just exceeds the double of the original

sum?

6.06%
6.08%

d ?r"'r

(65) Myr. Prakash inve; ;
ound interest at the rate of

and ‘B’ offeri
st 8% and 9%sper tiipium respectively. If the total
amount t accrued through these fwo

; @ in two years was 4,818.30

tal amount invested was < 27,000. What
le.amount invested in schemes ‘A’?

: a T 12,000 b. ¥12,500
 PYQJune22  w_ \c 13,000 d. 13,500
(59) In how much time a sum of amount doubles at T S
simple interest at 12.5% rate? N %6’) sum of money invested of compound interest
a. 7 years b. 8 years Bk double itself in four years. In how many years it
c. 9 years ~d. 10 years . s  become 32 times of itself at the same rate of

|

(60) The effective rate of interest cor;’ggp‘d‘ﬁding%é
nominal rate of 7% p.a. convertible guarterly.

a. 7% b;;.’f" 75%‘
. 5% d.87.18%
mf; e A PYQ Dec 22

(61) A machine worth ¥4,90,740 is depreciated at
15% on its ()ﬁ,mingwdwé‘each year. When
% would its value reduce to X 2,00,750?
. 5 years,5 months
b. 5 years 6 months
. 5 years 7 months
d. 5 years 8 months
sy - PYQDec22
(62) IfZ 64 amount to ¥ 83.20 in 2 years, what will
<86 amount to in 4 years at the same Rate

percent per annum?

“pYQyiiras’

compound interest?
a. 12 years b. 16 years

c. 20 years d. 24 years

(67)  The difference between compound interest and
simple interest on an amount of < 15,000 for 2
years is T 96. What is the rate of interest per

annum?
a. 9% b. 8%
11%

G 10% d,
(68) A sum of money doubles itself in 4 years at

certain compound interest rate. In how many

years this sum will become 8 times at the same

compound interest rate?

a. 12 years b.

€ 16 years d.

14 years
18 years

m ‘u"y" Ul "‘

6 7127.60 b T147.60
¢ T145.34 d ¥117.60
_‘
MCQ Compiler cA Foundation Maths, LR and Stats |ERZLLELLLD
i
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oos% 4. 1038%

een compound interest and
a certain sum of money
years at 6% per annum is 4
ipal is

5 b, 23,700
12,000 4. ¥10,000 &

(72) A machine depreciates 10% of its value a

9,000 respectively. Approxima
many years the machine is put

the beginning of that
te number of years, by
ease of population will be
(Given1.02° =1.17166 )
b7

compound interest on ¥ 15,625 r |
ths at 16% per annum compounded
erly is:

e 718 b %1941

e 21951 d 1,961

NN TR 06 = =.

Q

Q"n‘@&@“‘@hwnmmnq_

e
A

:H
|\ X o

<>

| R

O R [0 ST n S AT AT A0 o8

4

a
b
a
a
a
a
b
b
a
c
b
b
c
a
d
d
c
b
c
b

MCQ Compiler CA Foundation Maths, LR ancf
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t Paper Questions

b. 9.36%
d. 9.9%

10.36%
11.36%

A machine worth of % 4,90,740 is depreciated
at 15% on its opening value each year. When
its value reduce to < 2,00,000

a. 5 years 6 months
b. 5 years 7 months
¢ 5 years 5 months
d None of these

2)

@)  Asum of money doubles ztself at compound |
interest in 10 years. In how many years will it
become eight times

a 10 b. 30 ) Q‘
c. 40 d 35 |
-

o vy

@)  The timein which a sum of money/ill be’
doubled at 6% compound interest compounded
interest compounded interest compounded
annually approximately. N

a. 10 years b. 12 years
c.  13years ¢ d. 14 years
o MTP Nov 18

5) A Ient ?6000 to Bfar 2 years and 1500 to C
for 4 years‘and recetved total interest of ¥ 900
from both. The rate of interest when simple
interest method calculated.

a 5% b. 6%
G 7.5% d. 9%

Note: There was a typo in que of MTP which is

corrected here.

MTP Nov 18

6)  Ifthe dzﬁ‘erence between the interests received
from two different banks on < 5000 for 2 years
is 2 50 then the difference between this rates.

(10)

(11)

(12)

a certain sum is
00 for 2 years. What
or 2 yeqrs? what is the rate

b. 18%
d. 10%

The val ue_of o machine depreciates 12%

~ annually. If the present value of T 68,150 then

its value in 3 years ago was.
a.  <1,10,000 b.
G392 000

<1,00,004

d __?97 000

What prmmpal will amount to = 370 inb
years at 8% p.a. at simple interest

a. 2210 b. %250

. Z310 d. %310

The effective rate of interest is an amount
25,000 is deposited in a bank for one year at
value of 6% per annum compounded semi-
annually is

a. 5.99% b.
c.  6.09%

5.95%
d. 6. 90%

A Sum of money doubles ztself in 10 years The
number of years it would be trebled itself is:

a. 25 years b. 15 years

c. 20 years d.  None of these

a. 0.25% b. 0.40%
(i1 0.50% d. 0.75%

Mca compiler ca Faundatlon Maths LR and Stats
——
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annum 1s < 110.16.
a 3000
C 12000

sPfi < 3500 for 3 years at 129

e - b. 7.02%
c & d 7.18%
Noie: All the options given in MTP were wrong, we

I-urmsaﬂucsiﬁ

(16)  The population of a town increases every year

Simple i

P" ‘ ()
Y @ br

1000 is invested at annual rate of interest g

b. ¥1260
d. <2000

by 2 % of the population beginning of that 10% p.a. The amount after two years if

year. The number of years by which the total \ compounding is done annuallyis _
increase of population be 40% is \ a.  ¥121 b. %1210 NN
a. 7 years b. 10 years Ay C. 3 7110 d. None of these

\_,4'.—‘ -

LFEE SRt

(24) If Aperson znvests 3 3 000 in a three years’
investment that pays you 12% per annum.

Calculate the future value of the investment,

B 7 a. 4214.78 b. I4124.78
SR i tion o7 emigTN . 3432448 d_ 2452648
a. 35 uyears 30 years ¢ B
c. —
75 Sl (25)  Aperson deposzted a sum of ? 10,000 ina
210,000 id rvestedhat nnual rate of in forpt bank. After 2 years, he withdrew < 4,000 and
ofI(I)% p.a¥Tle gmount after two years at *  attheend of 5 years, he retceived. an amo.unto, “
el compundin gis Z7,900; then the rate of simple interest is: ‘
o 221100 b, 212100 e 6% L |
ST 12110 d. None of these ¢ 10% _— d N oneq these !
(19)  The annual birth rate and death rate per 1000 (26)  Atrust fund hasiin'{;eéted 330:000 i" two
are 39.4 and 19.4 respectively. The number of different types of bonds which pays 5% and
years in which population will be doubled #* 7% interest respectively. Determine how muct
assuming that there is no immigration or amount is invested in second type of bond if '
emigration is approximately trust obtains an annual total interest of &
a. 40 Years b. 30 years 1600.
c 35 Years d. 25 years a. <5000 b. %6000
@ <7000 d. <8000

/m/ MCQ Compiler CA Foundation Maths, LR and St
e
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account and ivas given to the son on hzs 10t
birthday. How much did he receive?
(1.05)" =2.1829

a. 25740 b. <23740
@ T 27860 d. 29760
Note: All options are incorrect, right ans is T 28755

(28)  What is the effective rate of interest if the
nominal rate 5 % p.a converted quarterly?
a.  6.09% b. 5.09 %
c. 5.55%

d. 560%

(29) Asumof money doublesﬁself at compound -4

interest in 10 years. In how many years will it
become eight times?
a. 20 b. 30

) 40 d 35

to T 2784 in four years at t

equal to.
a. 7%

interest a
total amou
interest percent per annum.

a. 5% b. 6%
d. %

at thge 1d of 1 year 8months the
¥50,000. Find the rate of

(e 4%

(32 A=%5200,R=5%pa, T= 6yeurs,szll
be
a. < 2,000 b.
23,000 d.

< 3,880
none of these

o ndatlon Maths, LR

and Stats

muny years the machme was p
7 years
9 years

falf-yearly
rst and sec

35 iutercd o

b #2087 .
4 ¥209084

ective rate of interest corresponding to a

X nominal rate 3% p.a payable half yearly is
3.2% p.a b. 3.25%p.a

. none of these

L (37)  Asum of money triples itself in 18 years under
simple interest. what is the rate of interest per

annum?
a. 9% b. 9.09%

11.11% d. 13%

(38  What time will be required for a sum of money
to double itself at 8 % Simple interest?
a. 8 years b. 8.5 years
! 12.5 years d. 12 years

(39)  The ence between simple interest and
compound interest on a sum of % 6,00,000 for
two years is T 6000. What is the annual rate of

interest?
a. 8% ' b. 10%
¢ 6% d 12%

CA. Pranav Popat
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A person borrots & 5,000
P simple interest. He

another person at 6

his gain in th aclon per year:
o) a“ ¢ @ b @125
e efctive rate of interest for one-yer e, 25\ d. 16750

’ m corvesponding to @ nominal 7 % rete of : . Varch,
: 25,000/ if its
wrtible quarterly is @ tof machinery is T 1,
. ! 4 usofJife is estimated to be 20 years and th

b toole
d. toool

: ;:ﬁ : ":\::\\\ A rate of depreciation of its cost is 10% p.a., then
the scrap value of the Machinery is [given th {
«) Muillkthemmdnt&m after three vears (0.9)" =0.1 S I

when present population is 325,000 and \ > o 15,197 b. ?5,400

population increases at the rate of 3 % i & lfi,.)()() - d. 15,250
yaar, 4 % i second year and 5 % in th ni& T R |
‘w‘r? (351)  If A person invests X 5,000 in a three years'
;l. 28119 b. 2 mestment that pays you 12% per annum, |
27000 Calculate the future value of the investment,

P Nov 20 a. 702464 b. ¥7124.78

Sl=0.125 P at 10% p.a fir C 732448 d. 2 7575 48 |
a 1.25 years b, "85 years ity |
25 ver d 5\'0,,,- ,)fth(‘s(‘ (52)  Two equal sums were lent out at 7% and 5% |
-  MTPM 21 simple interest respectively. The interest

earned on the two loans adds up to < 960 for
four years. Find the total sum lent out.

6,375 in 3 years at the same rate qf interest is: a. T4000 b. 3000

a. 4350 b, I5000 & 35000 d. 6000 |

¢ T/ d. 5275 , . -~ MTPApr2ll
Note: All options are incorrect, correct is 34828 (53)  Asumof money amounts to Rs. 20,800 in 5

larch 21 years and ¥ 22720 in 7 years. Find the
(#6)  The difference between the simple and principle and rate of interest. ‘
compound interest on a certain sum for 3 year a.  ¥5000, 6% b. 16000, 6%
at 5% p.a. s ¥228.75. The compound interest ¢ 80000, 8% d. 10000, 10%
on the sum for 2 years at 5% p.a. is:
a T3175 b. 3075
g <3275 d. 2975

-@ S LR MCQ Compiler CA Foundation Maths, LR and S
e e — .'
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’ b L @W ) l-"

d. None of these

 The effective annual rate of interest
"~ corresponding to nominal rate 6% p.a
' : .a. payable
 half yearly is
s 6.06 b. 6.07
c 6.08 d. 6.09

G6) The cost of machinery Rs.1,25,000 if its useful
life estimated to the 20 years and the rate of
depreciation of its cost is 10% p.a . Then scrap
value of machinery is (given that (0.9)” =

0.1215)
2 Rs 15187 b. Rs. 15400
¢ Rs.15300  d. Rs 15250

_r“* p

Wy [ G e el (e 1
RN T MR A B
(67)  Ifasimple interest on a sum of money at 6%
p.a for 7 years is equal to twice of simple
interest on another sum for 9 years at 5% pal.__
"

The ratio will be LN
T 215 b 715 \ PN

o 157 d 1779

‘ r 21

68)  Inwhat will be  su of monejdotibe itslfat
6.25% p.a . Simple interest?{ '

0.  Syears b. 8 years
@ 12 years o, d. 16 years
' MTP Apr 21

(69)  What willlbe population after 3 years when

present po'ﬁul_qlt, jon is 25,000 and population
‘ t4%

increase at the rate of 3% in first year,
in second year and at 5 % in third year ?

a. 28,119 b. 29,118
| g 50100 d_ 27,100
- TP Apr21
(¢ A sum amount to Rs. 1331 ata principal of
Rs.1000 at 10% compounded annually. Find
the time
a 3.31 years b, 4 years
C. 3 years d. 2 years

npil A Foundation Maths, LR and Stats

interest p.a. (at simp
instalment plan?
a.  18%

c. . LK%

Iflfsum' osYielf in 15 years at si
of interés ate of interest per a

What will be population after 3 years when
present population is 25, 000 and population
increases at the rate of 3% in I year, at 4% in
1T year and 5% in IIl year?

a. Rs.28,119 b. Rs.29,118
¢ Rs27,000 d. Rs.30,000
o

(65)  He effective rate of interest equivalent to the
nominal rate of 7% converted monthly:

0. 7.26% b 7.22%
¢ 7.02% d. 7.20%
(66)  How much will be Rs.25,000 to in 2 years at

compound interest if the rates for the
successive years are at 4% and 5% per year
a. Rs.27,300 b. Rs.27,000

d. Rs.27,900

c.  Rs.27,500
I lent out at simple

67 Asumof¥ 46,875 was
interest and at the end of 1 year 8 months, the
total amount was ¥ 50,000. Find the rate of
interest per annum. "
a. 8% b 10% , L‘_*_ﬂ
o 12% d. None o

Note: Given ans in MTP is wrong, correct is 4%

CA. Pranav Popat
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certain sum be 0.125 times the
10% per annum
a.

1
1= years
Vi

1 of money gets doubled in 5 years at
i t was Y% c. o1 d
nple interest. If the interes , Jvears ‘

he sum of money would have become ten-fold

mthzrtyyears What is Y = X (in %)

a. 10 b. 5
c 8 d. none of these

(78)  The time in.by which a sum of money is g
times ofiitself ifiit doubles itself in 15 yeqrg
cormpaunded annually. "
b. - 43 years
46 years

(71)  The difference between Compound Interest and
Simple Interest on a certain sum for 2 years at

6% p.a. is < 13.50. Find the sum | »\ & /
a 3750 b. 2750 QQQ \ Present value of a scooter is 37290, if its valye

w decreases every year by 10% then the values

p 8 before 3 years is equal to
a. 10,000 b. 10,500
c. 20,000 d. 20,500

d

4750 none of these

C.

(72)  The sum required to earn a monthly teresbtggf
Rs 1200 at 18% per annum Sinple Intgrest fs?g
a. 250,000 b. 260 ooc‘ﬁ;‘*;z;

c. 80,000 th%%e (80)

Find the effective rate of interest ut 10% pa
when the interest is payable quarterly.

The compound interest e a. 10.38% b.

lender on ¥ 7,000 for 3 y C. 5.04%

interest for 3 years are 7%, 8%’-and 8.5% - MR
respectively is (81)  The difference between in simple interest ona

b, 1800 sum invested of #1500 for 3 years is ¥18. The:

d. none of these difference in their rate is

a. ?175

Bl MTP Oct 21 a. 04 b 06
(79) A Maruti Zen cost ? 3 60 000. Its price c. 08 d 010
depreciates at the rate of 10% of a year during &
the first two years and at the rate of 20% in (82)  What will be the populatzon after 3 years wnett
third year. Also find the total depreciation. present population is 25000, if the populuh |
a.  31,26,720 b. <1,15,620 increases at the rate 3 % in I year, 4 % in Il

e < 1,25,000 d. ?110 520 e year and 5% in I11 year.

a. 28,119 b. 29,118
(75)  In what time will be a sum of money doubles C. 27,000 d. 30,000
itself at 6.25% p.a simple interest?
a. 5 years b. 8 years
(e 12 years d. 16 years

SR || MCa compiler CA Foundation Maths, LR an9:
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, b. 15 years i‘al
161 d.  14.3 yea b.
o ¢.  Number
" Find the effective rate of interest if an amount d. N:n

aid of 30,000 deposited in a bank. For 1 year at the

rate of 10% per annum compounded semi- (92)  Find the effectivgzatéghiite
annually When interes @ ablg g : :
o 1005% b 10.10% o 10 b %
¢ 1020% d.1025% ¢ qoa% Y i H
(86) The present population of a town is 25,000. If (93) ?4 le interest if the principle is 72,000
it grows at the rate of 4%, 5%, 8% during 1¢ and W rate and time are roots of the equation
yoar, 2* year, 3 year respectively. Then find v -11x+30=0 .
the population after 3 years. a. 2500 b. 2600 I
.. X700 d. 2800

a. 29,484 b. 29,844 C
¢ 29448 d. 28,944 s \ A  MIPDec22-Serigsh|
MTP w_ (94)  Rajesh deposits ¥ 3,000 at the start of each
@70  The present value of a scooter is & 7290, Thew quarter in his savings account. If the account

it was Ko earns interest of 5.75% per annum

rate of depreciation is 10%. What wa
palue 3 vears ago? ‘ compounded quarterly, how much money (in
a 10000 . ) 2) will he have at the end of 4 years? [Given
¢ 9990 Py that (1.014375)" =1.25654 ]
- MTP June 22 o ¥543086 b 585536
year 15 3% C. 268353.6 d. ¥63624.4

(88) The rate of interest for the firsH2

per annum, for el vears is 8% Note: Que belon to Annuity Topic

) ;‘1'7 annum
&

»* and for the ;'u;n.f‘.ﬂm!d 5 years, 107 per ey
annum. [/ man .-["* Z 1520 as a simple (95)  The annual rate of simple interest is 12.5%. In
interest folguycg®; how much money did he how many years does principal doubles?
deposut? ' a. 11 years b. 9 years
a ? 3800 b, 23800 c.  8years d. 7

1 & 4000 d.  None L:" these : j
— - MTP M (96)  Certain sum of money borrowed :'t;mp:ﬂ%
: - ; i 022784

@  The difference between simple interest and interest to T 2688 in three years ‘

iy cr 2 years at infaurymrsatﬂlemﬁzperannama;udm-
mpaund intereston @ "ﬁt:zm for 2 years 3 o phe 4
0% pa.is? 10. Find the Sum ; 3 o e i
a £1010 b. 1095 -
d 990

d ¢ (1000
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190 b 256480
24648 d. 266480

(98)  An investor is saving to pay offan abligaﬁ?n
" of 15,250 which will due in seven years, if
the investor is earning 7.5% simple interest
rate per annum, he must deposit T __ 1o

meet the obligation.
a. <8000 b. <9000
a: < 10000 d. 11000

(99)  The value of the scooter is % 1,00,000 find its
depreciation is 10% p.a. Calculate the total
depreciation value at the end of seven years.
a. 247829.70 b. I47000.90
c. 42709 d. 42,000

Note: Que requirement should be to calculate WDV

value and not the depreciation. L _

(100)  Effective rate of interest does not depend g

upon
a.  Amount of Principal

b.  Amount of Interest )
. Number of conversion %@ﬁs
d.  none of these Y \

W D22 Series 1

A man invests ?EZ;OOO at 10% p.a. and

another sum of: at 20% p.a for one
year. The total i1 nt earns at 14% p.a.
simple inferest thefotal investment is:

(101)

Q. < 8600 b. 220000
e < 14000 j d.  T16000
-  Dec 22 Series IT

(102)  The difference in simple interest of a sum
invested of ¥ 1,500 for 3 years is ¥ 18. The
difference in their rates is:
a. 04
C. 0.8

b. 06
d. 0.10

. B

o A 10%pa.

;v S C.

b BRLE

(104)  Find the effective rate of in
when interest is payable qu
a.  10.38% b. 5
c.  5.04%

What will be the popu
when the present pgpulation
and population igcr

(105)

R b, 29118
d. 30000

. v

Thewalue of scooter is < 10,000. Find its.
%X value after 7 years if rate of depreciation is

b. T4,278.69
d. %42,000

~) o 74782.96
742,079

e -
B

(107)  The difference between the CI and SI for2.
years is 21. If the rate of interest is 5%, the
final principle is: -'
a. Z8,200 b.
e. < 8,000

< 4,800
< 8,400

(108)  Mr. X lent some amount of money at 4%
* and he obtained Z 520 less than he lent in5
years. The sum lent is
a. 3620 b. 2650 ]
. <750 d. none of these
L) . 2
(109) 8,829 is invested into three different secto
in such a way that their amounts at 4% p
g S.I after 5 years; 6 and 8 years are equa.
Find each part of the sum.
a. Z3,069,%2,970; 32,790
b 73,089, %2,970; % 2,790
& 23,609, ¥2,970; 32,790
d 3,069, ¥2,960; X 2,760

MCQ Compiler CA Foundation (R
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(112)

(113)

(114)

(115)

ive annual rate of interest
corresponding to a normal rate of 6% per
annum payable half yearly is:
a. 6.06% b. 6.07%
c. 6.08% d. 6.09%

A trust fund has invested T 27000 money in
two schemes ‘A" and ‘B’ offering compound
interest at the rate of 8% and 9% per annum
respectively. If the total amount of interest
accrued through these two schemes together
in two years was I 4818.30. What was the
amount invested in schemes ‘A’?
a. < 12,000 b. 12,500
) 3 13,000 d. 12,500
- MTP Jun 23 Sertes il
A sum of money znvested of compound
interest double itself in four years. In how .
many years it become 32 times of itself at the v
same rate of compound interest. W
a. 12 years b. 161 jears 5
. 20 years d. 18%ears

T L jes I
The difference between cofnpound uzterest
and simple interest on an‘ag’munt of < 15,000
for 2 years is ¥ 96. What is the rate of interest
per annum? ,@:},
a 9% o~ \/ ~ b 8%
c. 1 A) d. 10%

s MTP Jun 23 Series 11

Mr. A mvested X x in an organization, it
amounts to T 150 at 5% p.a. S.I. and to T 100
at 3% p.a. S.I. Then the value of x is
a. 370 b. T40
c <25 d. None of these

q;-,,, YA

(120)

(121)

(122)

118)

el

A certain sum of money becon
5% rate of S.1. p.a. in a certain
in years is

a. 10 years

b. 8 years
_ . None of these

«@1} %‘1,25;000 is borrowed at compound interest

at the rate of 2% for the 1+ year, 3% for the
second year and 4% for the 3 year. Find the
amount to be paid after 3 years

a. <125678 b. 136587

c. ?163578 d. 136578

A certain sum of money amounts to double in
5 years placed at a compound interest. In how
many years will it amount to 16 times at
same rate of interest?

a. 12 years
C. 24 years

b. 20 years
d. Noneo these

If the compound mterest on a certain sum of
money for 3 years at 5% p.a. be ¥ 50.44, then
the simple interest (S.I) is '
a. %50 b.

¥49
d Noneo these

If the dzﬂerence between C I and S. I ona
certain sum of money at 5% p.a. for 2 years is
€ 1.50. Find the sum of money
a. 2600 b.

<500

é 2400 d.  None of these
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58
61

67
70
73
76
79
82
85
88
91
94
97
100
103
106
109
112
115
118
121

hﬁﬁhhhhhhhQ‘ﬁhhwﬁﬂhﬁ‘@&@ﬁ‘i&‘fg
'

| LS o 8w

93

96

99
102
105
108
111
114
117
120

A O R S N0 N0 S DN SS NS 0 R RS S

E‘@ﬁ&whhﬁh@ni& S -
d’i?

@

| ,sz“""

Calculatﬂﬁ‘t“
71,56, 454.88
Z 1,56,554.88
71,44,865.625

b.
¢ 1882865
4 31888265

A man invests an amount of 15,860 in the
names of his three sons A, Band C in suchg
way that they get the same interest after 2, 3 ay
4 years respectively. If the rate of interest is 5%
then the ratio of amount invested in the namegj

A, Band Cis:
a 6:4:3 b. 3:4:6
c. 3012525

~d. None of these

The value of furniture depreciates by 10% a
year, it the present value of the furniture in an
office is ¥ 21,870. Calculate the value of

furniture 3 years ago
a. 330,000 b, ¥35,000
ol < 40,000 d. <50,000

Note: Que to be classified under CI Categor

®)

Let a person invest a fixed sum at the end of eact
month in an account paying interest 12% per
year compounded monthly. If the future value)
this annuity after the 121 payment is < 55, 000
then the amount invested every month is?
a. 34,837 b. 34,637

(%) 34,337 d 33337

NI MCQ Compiler CA Foun dation Maths, LR d
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b. 536535
d. 9,892.34

Find the present value of ¥ 1,00,000 to be
required after 5 years if the interest rate be 9% .
Given that 1.09° =1.5386

®

annui -
The future 5M
is greater than the f
annuity due
The future valgegf an ar Wity du
equal to future "f . ahar;
annuity

y year for 10 years to pay off

o  78995.98 b. 64,994.15 (12) 22,500 @
¢ 88,992.43 d. 93,902.12 a loar™What isdhe loan amount if interest rate
— be @ per annum compounded annually?

@

of T 100 each year. If the interest rate is 8% the

future value of this annuity is given by:

a. (R100) x (future value at rate 8% for 5
years) x (0.08) N\

b. (Z100) x (future value at rate 8% for.5 A
years) x (1-.08)

c. (100) x (future value at rate S%fb a.
years) x (1+0.08) ra ‘\é) b.

d.  (%100) x (future value a Y%é‘@ lofor 5 3
a d.

years) x (1/0.08)
| S \( PYQ Nov. 20
(10) A person decides to invest < 1,25,000 per year
for the next five years in an annuity which gives
5% per annunc ompounded annually. What is

A five year annuity due has perioic ch flow a.

ind the future value of annuity of 1,000
made annually for 7 year at interest rate of 14%
compounded annually (Given that

1.14" =2.5023)

B

b. Z13,040.27
d. ¥16,345.11

3 15,847.90
| T14,674.21

210,730.7
35,365.35
T 8,756

2959234
W‘r

(14) 54 800 is znvested at the end of each month inan
account paying interest 5% per year
compounded monthly. What is the future value

of this annually after 10" payment?

34,444 b. 28,756
s ?8,151.67

(15) : Thé present value o an annulty zmmedzate is

the same as

the approx )future aﬂl@ze7
(use 1.05° éﬂ;76’2 if needed) a.
a. 159535 b. 690,500 e
5 5,90,704 d. 359,535 e i
a.
b.
@
d.

I
Compiler CA Foundation Maths, LR and Stats ||

e

CA. Pranav Popat

Annuity reqular for (n - 1) year plus the
initial receipt in the beg. of the period.
Annuity regular for (n - 1) years
Annuity regular for (n + 1) years
Annuity reqular for (n + 1) years plus
the initial receipt in the beginning of the
period. :
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* Anshika took a loan of T 1,00,000 @

years. What amount will she pay if sh
ay the whole amount in five equal

installments?

g 22504563

o 2804550 o

23)

.........

4) Ankit invests ,’u ) at'the end of each g h
receiving iuegeshQ 7% per annum for 5 yeg
What ar I be receive at the end of the e

gt .
, b, 21,021 peri
N 61,254 2 71,200.20 b ¥71,104.83
C 78, 204 83 d. None of these

' g

5 L TR S SRS L

%A company establishes a smkmg ﬁmd to provig
for the payment % 2,00, 000 debt maturity in 29
years contribution to the fund are to be made gf

: mpoi}nded annually at 10%? (Gioen that P«
i aao 10) = 15.9374298) the end of every year. Find amount of each
deposit of interest is 10% per annum?

BN 72 15,726.87 -\- e
_' ?\ o 359211 b 2349211

b $4,13,726.87
e #3,53,726.87 c. ¥3,392.11 d.  None of these
d. %453726.87 PYQI

(26) How much amount is required to be invested
every year so as to accumulate ¥ 5,00,000 at the
end of 12 years if interest is compounded

(20)  The present value of an anni

be received after 10 years at 6% per annuimn
compounded ann is annually at 10% (Where A (12, 0.1) =
PR LX) V‘o 713,960 21.384284) |
c. ¥ 11/960 d. ¥17,960 a. <23381.65 b. <24385.85
Note: Options are agper.gingle cashflow so annuity ¢ Z26381.65 d. ¥28362.75
word should not be there. PYQ De
YQ 22 (27) 10 years ago the earning per share (EPS) 0
(21) %2500 is paid every year for 10 years to pay off ABC Ltd. was ¥ 5 sharf fts EPS for this y:ar is |
a loan. What is the loan amount if interest rate *  Z22. Compute at what rat, EPS of the company. I'
be 14% per annum compounded annually? grow annually?
a.  TI584190 b 13,0402 a.  1597% b 16.77% ’
¢ 1467421 d. ¥14,010.90 c. 18.64% d. 14.79% {

MCQ Compiler CA Foundation Maths, LR and :.
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)2 =2.25219159.
7 540,526 b. < 382,813
T 643, 483 d. X357,769

2

@9 MrA invested < 10,000 every year for next 3
29 years at the interest rate of 8 percent per annum

compounded annually. What is future value of

the annuity?
a Z 32,644 b. ¥32,464
c T 34,264 d. ¥36,442

5,000 is invested every month end in an
account paying interest @12% per annum
compounded monthly. What is the future value
of this annuity just after making 11" payment?
(Given that (1.01)" =1.1156 )

(30)

. 57,800 b. 56,100
c. 756,800 d. ¥57,100

1l S

@31  Sinking fund factoir is the reciprocal of:

a. Present value interest factor of q~;singfe
cash ﬂow ¢ ) p

b. Present value interest fagtor of an'.
annuity Vo d

e Future value interést fuc’taf of an
annuity \

d. Future value interest factor of a single
cash flow"

Y o~ VY PYQ Jun 23
(32) Suppose you have decided to make a Systematic
Investment Plan(SIP) in a mutual fund with <
1,00,000 every year from today for next 10
years where you get return at the rate of 10%
per annum compounded annually. What is the

future  value  of  this annuity?  Given
1.1° =2.59374
a. Z17,35,114 b, ¥17,53411

e 317,35411 a  T17,58114

PYQ Dec 22y

—_—

[ v Popat
€@ Compiler €A Foundation Maths, LR and S t"
—

»

&' »
TN

Ny, | \ every year starting from today for the next five
. “years. Govinda deposits this amount in a bank
P a5 and when he receives and gets 10% per

or ¥ 60,000 cash down®piyy
three equal annual ipsta
interest  charge

compounded

in the i
2.32163) il
a. 3 b, ¥146,137 ﬂ
. ‘ 1,28,040 d. 1,558,040

Govinda's mother decides to ift him ¥ 50,000

annum interest rate, compounded annually.
What is the present value of this annuity?
Given P(4,0.10) = 3.16987.

a. <2,80493.5 b. 22,08493.5
c. %2,08943.5 d. 22584935

L Ans

1 a 2 a 3 a
4 a 8 @ 6 a
7 a 8 b 9 ¢
10 b 11 a 12:8b
13 a 14 d 15 a
16 b 17 a 18 ¢
19 a 20 b 21 b
22 a 23 a 24 b
25 b 26 a 27 a
28 b 29 b 30 a
31 ¢ 32 a 3 ¢
34 ¢ 35 b
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1. %17,434.25
. 21743452

Find the Present value of % 40,000 t,
after 5 years, If the IntereSt b&go.
(1.09)° =21.5386 (E
Rs.6499.42
- Rs.6700.52
Note: When factg? aréxgioen in the question better g,
get a &b TnSwer.
@ A sinking fund is created redeeming debentures se thatiogs s

worth 5,00,000 at the end of 25 years. How (8) Rs. 500'is invested is invested at the end of eag]
‘much provision need to be made ?ut of profits : month 1§ an account paying interest 8% per
each year provided sinking fund investments year compounded monthly. The future valye of
can earn at 4 % per annum = \annuity after 10th payment is 1
a. 12,006 ?% (1.08)"° =2.15893 j ‘
b 12,040 A a.  Rs.7243.31 b. Rs.7423.30

c 12039 \ Y c.  Rs.3451.50 d. Rs.3541.50

d 12,035 Note: Error in MTP Que — it should be annually not

‘ ; monthly then only we can get optz'on a as the ans.
Find the future value of annuity <. 1 MT
ety fe) ;7 Y earsllat 'znterestr = o (9)  The value of furmture depreczates by 10% a
compo7un R year, if the present value of the furniture in an
(il -2025 office is % 21870, calculate the value of furniture

a.  ¥10730.71 b. 0735 3 years ago
c. 10734 A a.  Z30000 b.  Z35000
ov 18

(85 < 40000 d. ? 45000

Z 10,000 is paid ev yyear to off a loan, the loan
amount if interest be 14% per annum
compounded annually is (Given P(10, 0.14) =

(10)  Find the future value of an unnuzty of?500
made annually for 7 years at interest rate of 14

5.21611)
g 521611 b #1917.13 % per annum [Given the (1.14) =2.5023]
@ ¥52,161.1 4 %19,171.3 a. < 5365.35 b. %5000

Note: Duration was not given in the question, we have & ¥5325.65 d. %6000.35

taken it as 10 from here (1.14)7 =2.5023 j

(5)  The present value of ¥ 1 fo be receive ufter 3 year
compounded annually at 11% interest is
a. 0713 b. 0811
g 0.731 d. 0.658

@ MCQ Compiler CA Foundation Maths, LR and 3!
\“—__//; =
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'

every year starting from today for the next five
years, you deposit this amount in a bank as and
when you receive and get 10% per annum
interest rate compounded annually. What is the
present value of this annuity? (P (4, 0.10) =
3.16987)

a. <41,698.70 b. ¥45,6698.70

c Z41,698.70 d. ¥41,698.70
Note: There is an error in options given in MTP as
tion ¢ and d are same as a.

(13) Y bought Motor Bike Costing 80,000 by making
down payment of T 30000 and agreeing to make
annual payment for four years. How much
would be each payment if the interest on unpai
amount be 14% compounded annually. [Gi
P (4,0.14)=2.91371]
a. Z17160.25
C. 2 15600.25

(14) A machine costs Z 1,00, 009/ Thi
rate is 10% per annum. The'sgrap value of the
machine at the end of 5 years is®
0.  T49490 Qe b T59049
c. 261029, d. 251049
W MTP May 19 Series I

(15) X bought a T casting 25,000 making down
payment of 5000 and agreeing to make equal
annual payment for four years. How much
would be each payment if the interest on unpaid
amount be 14% compounded annually? [P(4,
0.14) = 2.91371]

a. Z6864.10 b, Z6850.63
G Z 6859 d. 26871

-2

. . Rs.45698.70

hs, LR and Stats

e &
(1/

OO0 W
L
loan a

-
the loa
0.14)=52161%

[l

a Z26080.55
C. ¥26280.55

Note: Option b is wrong as &
answer is option a. ‘

(1) Suppose ygunfr¥id decided gift to you 3 10000
every yed starthyg Jrom today for the next five
years™giedzpbsit this amount in a bankas
a 0 you receive and get 10% per annum
intereScompounded annually. What is the
present value of this annuity?

a.  Rs.42698.70  b. Rs.43698.70

d. Rs.41698.70

L (19)  Z 1000 is invested at the end of each month in
an account paying interest 6% per year
compounded monthly. What is the future value
of annuity after 10th payment? (Given that
(1.005)"° =1.0511)

0 210220 b 21022
¢ 220000 d. 21020
‘}?‘3“,

(20)  Anil bought a motor cycle costing ¥ 1,30,000 by
making a down payment of ¥ 30,000 and
agreeing to make equal annual payment for five
years. How much would be each payment if the
interest on unpaid amount be 10% compounded
annually? [P (5, 0.10) = 3.7908].

a. ¥28379.70 b. ¥26300.70
c.  ¥26500.70 d. ¥26379.70

CA. Pranav Popat
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7 l}mmt zf interest
t 14% per annuin.

d. ¥560.50

y;u-‘@. {
VA

) The present value of an annuity of 80 for 20
years at 5% p.a is [Given (1.05)" =2. 65331

a. <997 (appx.) b. <900
Z 1,000 d. none of these

Grven (1.05)” =3.386355 ]
a Z 75,000 b.
¥76,375.80 d.

C.

(25) A man purchased a house valtea at <3,00, 000
He paid ¥ 2,00,000 at the time of purchase and
agreed to pay the with interest at 12%
per annum ouned half yearly in 20 equal
half yearly @ s. If the first instalment is
paid after si. s from the date of purchase
then the amount of each instalment is.

a. <T8,718.45 b. ¥8,769.21
e <7,893.13 d. none of these

(26) A person invests T 500 at the end of each year
with a bank which pays interest at 10% p.a C.1.
annually. The amount standing to his credit one
year after he has made his yearly investment for
the 12% time is. [Given (1.1)" =3.1384 ]
A <11,761.36 b. ¥10,000

ﬁ'. ¢  Z12,000 d. none of these

L

b. 820
¢ X724
l d. <720

™ 0 cash - SR
(R vt o ouse paying p 00 cah N\  (30) The future value of annulty of Y 000 made

down and T 4,000 at the end of each year forﬁ %

| ]
1 Q |
‘ \

MCQ Compiler CA Foundation Maths, LR and
ki

CA. Pranav Popat

i the
after 5 years, if the mterest rate b' 9 per

compounded annually.
a. & 5500
b. 25600
c <6000
d 26500
(29) A man borro @I 00 feom a bank at 10%

compound,inie At the end of every yeay §
3% 1,500as tepayment of loan and mtEr

" w A A

,J

e

annually for 5 years at the interest of 14%
compounded annually is
(Given (1.14)° =1.925410 )

a. Z5610
b. T6610
é: T6160
d 6160

(31)  Future value of an ordinary anﬁﬁiﬁ/

& A(n,,M[g:z:‘;z}
1

b. ‘\n ]
A(n,i):A[(IH') + 1
c. A(n,z'):A[l (1+z)"
d. n
1(l+z)"
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Shoba borrores ¥ 50,00,000 to buy a house. If he
pays equal instalments for 20 years and 10%
interest on outstanding balance, what will be
the equal annual instalment? [Given :
P(20,0.10) =8.51356 /]
a. Z687298.4

C ¥585298.4

b. 6852984
d. ¥587298.4

Note:

(349 How much money is to be invested every year so
to0 accumulate < 3,00,000 at the end of 10 years
if interest is compounded annually at 10% [A
(10,0.1) = 15.9374)

a. Z18823.65 b. <18833.64
¢ 7162360 d. 168365 o o
. 0 MTP Jun 23 Serigs]
(35) Find the present value of an ordinary anjuityef 41)
8 quarterly payments of % 500 each, tlze‘i{gﬁjbﬁ;-: ’
interest being 8% p.a. compound giimrterly
a. ~ 4275.00 b 4725.00%"
¢ 3662.50 i/ 326650
. VP Jun 23 Series
(36) How much amount is required;‘fo be invested
the 42)

every year 50 as to necumulate < 5,00,000 at
end of 12 yearsif intefest'is compounded

T

compounded
wtueof!ha’uunuﬂg
payment (Given that (MOTN
o  T115600 PND.
T 156,800 ‘ I

resent value interest factor of an ,
muity

. Future value interest factor of an

annuity

4. Future value interest factor of a single

cash flow.
e
s il

Find the present value of an annuity which
pays % 200 at the end of each 3 months for 10
years assuming money to be worth 5%
converted quarterly?

a.  I3473.86
c. 626538

b ¥3108.60
d. None of these

The amount of an annuity due consisting of 15
annual payments invested at 8% effective is &
10,000. Find the size of each payment.

annually atf10% (Where A (12,0.1)=
3.1384284) N, o 287386 b 2108.60
a. 723381.65 p,  ¥24385.85 c. ¥341.01 4. None of these
¢ ¥26381.65 4. ¥28362.75 TR
s MTP Jun 23 Series [ 43)  The future value of an annuity of ¥ 5,000 is
at interest rate of

(37) Raju invests ¥ 20,000 every year in a deposit
scheme starting from today for next 12 years.
Assuming that interest rate on this deposit is
7% per annum compounded annually. What

will be the future value of this annuity? Given

that (1+0.07)° —2.25219150
4 540,576 p. ¥382,813
o~ 643,483 #357,769

_—
Mca Compiler CA Foundation
o L

Maths, LR and Stats CA. Pranav Popat

made annually for 8 years
9% compounded annually.
(1.09)} =1.99256)
F55,142.22
¥ 65,532.22

( Given that

b, T65,142.22

a.
4. €5742522

(8
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Ipplication of Time Value and Other Concepts

Past Year Questions

: - PYQ June 19

@ Aperson wants to lease out g machine costing ¥
5,00,000 for a 10 year period, It has fixed a rental
0f 251,272 per annum payable annually starting
from the end of first year. Suppose rate of interest
i 10% per annum compounded annually on
which money can be invested, T, whom this

agreement is favourable?

4. Favour of Lessee

b. Favour of Lessor
a Not for both
d. Can't be determined

E%

(&)

(6)

(7)

8)

& L "JM
el . TN

What is the net present
which would be valued he e
years? (Annual rate @fiyicreas®e5%)
a. ¥ 1.81 lak) ™ %2.01 lakh
22.004fkh ) '\ d. None of the

akh at the,

C.

Determ @ esent value Ofperpetuw
0 110

5 e h @ rate of interest 12% p, L
a. 2? 45,00,000 b.  ¥50,00,000
C.

< 55,00,000 _ . < 60,00,000

W o A
.‘Al,“,‘ﬂ . tf'\'*

A stock pays annually an amount of ¥ 10 om
6" year onwards. What is the present valye of
the perpetuity, if the rate of return is 20%2
a. 20.1 b. 19.1
C. 21.1 d 221
T
Assuming that the discount rate is 7% p.a. how
much would pay to receive 200 growing at 59
annually for ever?
a. < 2,500 b.

C. < 7,500

< 5,000
d. Z10,000
If discount rate is 14% per annum, then how
much a company has to pay to receive ¥ 280

growing at 9% annually forever?

a. 35,600 b. ¥2,800
C. 21,400 d. ?4,200

If the nominal rate of growth is 17% and
inflation is 9% for the five years. Let P be the
Gross Domestic Product (GDP) amount at the
present year then the projected real GDP after 6
years is;

a. 1.587 p b,
¢ 1403p d.

1.921P
251F

MCQ Compiler ca Foundation Maths, LR and:_‘
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b.  45,00,000
d.  50,00,000

Let the operating profit of a manufacturer for five

years 15 gtven as
| %ﬁg Operating profit (in lakh ¥)

1 90
2 100

B 106.4

Tl 107.14
5 120.24

G 157.34

Then the operating profit of Compound Annual
Growth Rate (CAGR) for year 6 with respect to
year 2 is given that:

a. 9% b. 12%

C. 11% 4 13%

PYQ July 21

(11) If the cost of Capztal be 12% per ﬁnnual then théy, ;

net present value (in nearest ) from the gzven
cash flow is given as:
Years Operating profit (in thousands ?)
0 1007 ) N
1 §Q P
2 L 40
3 50
34185

a. 31048 b.
. 21048  \ Dwd. 24187
e -~ PYQ June 22
(12)  Assuming that thediscount rate is 7% P.A. How
much would you pay to receive ¥ 200, growing at
5% annually for ever?

a. Z2,500 b. ¥5,000
(i3 7,500 d. 210,000
] PYQ June 22

1) The CAGR ofa initial value of a investment of ¥
15,000 and final value of ¥ 25,000 in 3 years is:
a. 19% b. 18.56%
e 17.56% d. 17%

_—

O~

CA. Pranav Popat

CA Foundatlon Maths, LR and Stats /

dividend return? ( —mf
o 20.38% 5
(@, 16.36%

(I5)  If the discount rate is 10% pémannum, how much
amount would you p '
growing at 8%,
a. 125

31

; LB
b. %250000
d. ¥2,00,000

. (16) Mr

8ot his  retirement  benefits
a ng to ¥ 50,00,000. He want to receive a
fixed monthly sum of amount for his rest of life,
starting after one month and thereafter he want
Nto pass on the same to future generation. He
expects to earn an interest of 9% compounded
annually.  Determine how much perpetuity
) amount he will receive every month?

a. Z39,500 b. 38,500
@ ?37 500 ~d. ¥36,600
1 a 2 3
4 b 5 a 6 d
7 a 8 a 9 d
10 b 11 e 12854
13 b 14 a 587
16 ¢

Scanned with CamScanner




ering proposal of

ne either by making full

ner 00 or by leasing it for four years

 annual rate of & 1250. Which course of
~qction is preferable if the company can borrow

 oneyat 14% compounded annually? [P

(4,0.14) = 2.9137]

a.  leasing is not preferable

b.  leasing is preferable
72} cannot determined \
d. none of these

(3)  Aperson desires to create a fund to be ir
10% CI per annum to provide forft ptiz

be ¢
a. %2000 b,
c. %3000

3 &)
22,500
tone of these.

A company is.considéring proposal of
purchasing a machine either by making full

payment o or by leasing it for 4 years at ©)]
an annual rent of ¥ 1250, Which course of action

is preferable? if the company can borrow money

at 14 % per annum?
[ Given: (1.14)* = 16870 ]
a.  Leasing preferable
b.  Leasing is not preferable (10)
&, Can't say
d. None of these

¥ {

MCQ Compiler ca Foundation Maths, LR a »
e DS

Leasing is preferable
Cannot be determined
. None of these abo

3 0¥

rchased for ¥ &

A machine can b
Machine will coy

10% per Jamiynt, Determine whethey

should b % 1 or not: (P(5,0.10)
a. Shouldde purchased

&, #Should not be purchased

(/]

i Y D)o
Gaeusii 1

A %1000 bond paying annual dividends at § 5
will be redeemed at par at the end of 10 years,
Find the purchase price of this bond if the
investor wishes a yield rate of 8%

a. Z907.135 b. ¥1033.54

. ¥945.67 4. None of these

ne of ttheﬁab e

Nominal Rate of Return =

a. Real Rate of Return — Inflation
b. Real Rate of Return + Inflation
e Real Rate of Return / Inflation
d. Real Rate of Return x Inflation

Net Present value > 0, then
a Accept the Proposal

b Reject the proposal
c. Not Feasible
d None of the above
f 2 2 ‘Ef’f ’
Nominal Rate of Return = J

@ Real Rate of Return — Inflation
b.  Real Rate of Return + Inflation ]
c. Inflation -Real Rate of return

d. None of the above

Scanned with CamScanner



*

(14)

(15)

(16)

(12)  Ifthe cost of capital pe —

oSl ; Lo
(13) Find CAGR, if the operatin
manufacturer for five years

12% per annum, they the
nearest Rs.) from the
ven as ¥ in thousands

Net Present Valye (in

< 51,048

8 profit of a

IS Qiven as
Yr. 1 2 3 4 5) 6
opP 90 100 | 106.4 107.14 120.24 157.35
a. 9% b. 129
¢ 11% d 13%

: MTP Oct 21
The nominal rate of growth is 17% and i;ﬂg@%
is 9% for the five years. Let P be the Gross A
Domestic Product (GDP) amount at tie ﬁresé;gf,
year then the projected real GDP after 6‘y_'é'zyzrrsy is
a. 1.587P b. R92ifPe
€. 1.403 P g ASNE

N MrPoOct2a
A person desires to create a fund to be invested
at 10% CI per anuum to provide for a prize of ¥
300 every year. Using Vo=a/I find V and V will

be

a. <2000 & b. 2,500
C. < 3,000 d. none of these ‘
MTP June 22

DLeitermine the present value of perpetuity of %
50,000 per month at the rate interest 12% per
annum is

a. ¥ 45,00,000 b. ¥50,00,000

c. £ 55,00,000 d. %60,00,000

(19)

20

AL

1)

scheme and at the tim
was < 25,000, If the C
Rate (CAGR) for th

5.5

A machingawithi eful life of 7 years costs &

10,000 7 viter machine with useful life
5 YeArso 8000. The first machine saves
la * xpenses of % 1900 annually and the
second,one saves labour expenses of ¥ 2200
annually. Determine the preferred course of
action. Assume cost of borrowing as 10%
compounded per annum. : '

I machine should be purchased

2" machine should be purchased
Information is not sufficient

“\Z\Ione of these

1 I' ‘4

a
b
(&5
Y “.'A:;l

10 yearé ago the earning per share (EPS) of ABC
Ltd. was % 5 share its EPS for this year is T 22.

Compute at what rate, EPS of the company grow
annually? ; :

a. 15.97% b. 16.77%

(5 18.64% d. 14.79%

A company is considering proposal of
purchasing a machine full payment of 4000 or
by leasing it for 4 years at an annual rate of ¥
1250. Which course of action is preferable if the
company can borrow money at 14%

compounded annually? . ,‘»
a.  Purchasing b. Leasing -
c. Botharesame ~ d. Noneofthese
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* PYQJan. 21

@ Mmltnﬂlgh‘s@emhngbetmn city A

(6}

@

(6

(6)

big

C.
d
E—

and city B. The number of ways in which a
person can travel from city A to city B and
refurn by different flight is:
b. 95

c 80 d. 78

PYQ July 21
Apersoncangofromplace ‘A’to ‘B’ by 11
different modes of transport but is allowed to
return to "A” by any mode other than the one

earlier. The number of different ways in which N

the entire journey can be completed is:
a. 110 b. 10”
. 9° d.

S

If a man travels from place A tg B /10 ways

then by how many ways canf he gome back by

another train?

a. 94 b. 110

C 90 €, 7 99

(n—1)kg ° L,

—=—5__""2 _ find'n'

f “n- Tn#3)! 2

a. 4 b. 5

C 6 do 7

PYQ June 22

PYQ June 19
Which of the following is a correct statement.

n n

a pn = pn—l

b' "pn = ann—-Z
np,, = ann—.?
np — n.(n—l}p .

€Q Compiler CA Foundation Maths, LR and Stats
e

| CA. Pranav Popat

P N

women and three men
>  allowing one chair

0" p, then the value of n is given by:

a If "ps =
a. n=5 b. n=3
n=9 d n=8
7 PYQ Dec. 21

, (11) I "p, =12, then the value of n is
a. 7 b. 3
c. 4 d 6
PYQ June 22

(12) 8 people are seated in a row in a meeting among
them the president and vice president are to be

% seated always in the center. What is the

arrangement?
a. 712! b. 62!
c. 6! d 1!
PYQ Nov. 19

(13)  How many numbers can be formed with the help
0f2,3,4,5, 6, 1which are not divisible by 5,

¥ given that it is a five-digit no. and digits are not

repeating?
a. 600 b. 400
C. 1200 d. 1400
PYQ Jan. 21

(14) How many four-digit odd numbers can be
formed with digits 0, 1, 2, 3, 4, 7 and 8?
* a4 150 b. 300
G 120 d. 210

Scanned with CamScanner
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. b 720
: 90 d. 30240
U ; PYQ Dec. 2

(19)  The number of words fhat can be Sformed usi
the letters of the “PETROL" such that the
words do not have “P" in the first positi

iy 720 HENT)
¢ 600 d. 5
m, = Dec. 21
(20) The number of different waysthie letters of the
word “DETAIL" can be arran in such a way
that the vowels cg Yy only the odd position
1s
a. 32 b. 36
¢ 4 d. 60
B PYQ June 22
@D If four words are taken with or without meaning
from the worg LOGARITHAM without
repetition. Hoyy many words wjll pe formed?
a. 5040 b. 2520
G 122. d. 40320
m N . uly 21
22)  The numper of ways 5 boys gy 5 ngZSQCHJT:I b:Z
Seated at q royng table, so 10 two boys are
adjacent s
a 2,550 b. 2880

ng the letters of the word DECTIONARY is

{ x ocks is: y

s girls sit fog
b Y %) g mt ﬂ*&
ways of this arrangem Lol
b 4. N3!x5!
(5 p 3 " Y : -
B J
— v ot
(25) How many differgmtgroubs of 3 people cap
formed from a of 5'people?
5 Bl |
2 1 d. 9 = r
< - PYQ
26) ‘n’ and ‘n’” corresponding keys are
available, but the actual combination is pog »
5\ known. The maximum number of trials that are
needed to assigns the keys to the correspong;

a. (u—l)cz (n+1)C2
n Ul
(k-1 2k
k=2 k=2
PYQ Dec.

(27)  Six boys and five girls are to be seated for g
photograph in a row such that no tp girls sit
together and no two boys sit together. Find the
number of ways in which this can be done,

a. 74,200 b. 96,900
(2} 45,990 d. 86,400
PYQ Dec. ;
(28)

The number of ways 4 boys and 3

girls can be
seated in a row so that they are alternate is:
* 4 b. 288 '
¢ 144 d. 256
PYQ Dec.22.
29

How many 3 digit odd numpers c

an be formed
using the digits 5, 6,7,89

if the digits can be
hg repeated?

a. 55 b. 75

C. 65 d 85
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(1)

©)

(6

)

ys
FTWARE' be arranged so tha,
always come together? . ¥
720 b

d.

the

1440

10 ek PR
4 c 5 b o 0
7 a 8 d 9 4
i) @ il @ 12 b
13 a 14 b W
16 b 17 b 18 a
19 c 20 b 21 a
228 b 23 a 24 g
PORNC 26 b 7%
o @ 29 b 30 b
31 d

Permutations

Find the value of n if ( 1)l 42 (n-D)!
b

a 6 B V4
c. 7 " d -6
MTP May 19
If P = 336 gnid "C =56, then nand 1 will be
Y O M ACE
g (7, Dt d. none of these
MTP Nov 18
can four persons stand

In a lawn different ways

in a line for a group photograph
b.

a. 24 16
C. 8 d. 64
1 MTP May 19
P = 720 and "C = 120 then value of ris
a. 4 bh. 5
c 3 d. 6

\ { :
(10) The Sum of all the 4 digits numbers that can be

FToR
g 188

i
+ B "
h § b

(7)  If"P,=20"P, then the va
a. -2
¢.  -2and7 both
Note: Given expression is ingagrect, cd
be "P,=20"P,

® PR,
a. 4
(¢,

(9)s How many Six-digi'i tlelephone numbers can be
formed by using 10 distinct digits ‘

‘.\N 106 b. 610
*% 6 e d. "G

formed with the digits 34,55 1s
% o 18887 b, 33333
¢ 38887 4. 56661

TP 77"?’"

Jul

: e 2z
Find the number of even numbers greater than
100 that can be formed with the digits 0,1,2,3?

# a4 10 by J5
oy . w20 d. none of these

MTP Dec 22 Series I, PYA 19
How many numbers can be formed with the hel
0f2,3,456/1 which is not divisible by 5
given that it is a five-digit number and digits

are not repeating?
a. 1200

(85 600

(12)

b 400
d. 1400

If two letters are taken at random from the word
HOME, what is the Probability that none of the

Jetters would be vowels? S
1/2 8 ‘u L ‘4 '

. 106 b. :
1/3 4 C
<M

Probability Chapter e

(13)

@
Note: From

P
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a. 576
76

(4, B
S

/

orange caps,

- MTP Nov 20
v Y ways can be letters of the word
ILURE' be arranged so that the consonants
- may occupy only odd places?
a. 576 b. 476
oL & 876 d 276
i MTP March 21

(18)  In how many w;ys can the letters of the word
FAILURE be arranged so that the consonants
may occupy only odd positions?

b 476 _.
d 276 _
r.‘

(19)  The number of words that ca vbe forshed Gut of

TR MTP Nov 21
20) Abox cont@ caps, 2 purple caps and 4

many ways they can be

arranged so that the caps of the same coloyr

come together, (Assume gj] cap.

s of same coloyr

are not identical)

a, 1724 b. 1728

¢ 1732 d. 1764
e MTP March 22

1) How many different words cay
the letters of the worq “LIBERTY”

a 4050
e 5400

be formed with

b. 5040
d. 4500

a

CA. Pranay Popat

Note: Cc;rrect word should be S RA &

SRR T

(24)  In how many ways c lettes of

MTP Dec 22 -
(25) HQny words can be formed with the |,

always occupy odd places:
: a 540 b. 8460
c 8640

" (26) In how many ways can a party of 4 men and 4

(28) 5 persons are sitting in a round table in such

Mcaq Compiler c4 Foundation Maths, LR an _:

2 2 7 d. Noﬂé

“DIRECTOR" beg

vowels are nev @

a. 180,
(& 18

that the

ther?
b. 18,000
d.  none of these

of theword ORIENTAL’ So that A gng p

d. 8450
MTP Dec 22 - g

women be seated at a circylgy table, so thy

t no
two women are adjacent?

a. 164 b. 174
C, 144 d. 154
MTP ,-rr I

(27)  The number of ways in which 8 examinati |

papers be arranged so that the best and worst

papers never come together

a.  81-2x7l b. 81-71

g 8! d 7! |
MTP

way that Tallest Person is always on the right- |

side of the shortest person; the numper of such
arrangements is 1

a. 6 b. 8 '
C. 24 d.  none of these j
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contest, then the number of ways the first,
second and third positions may be won is

a. 1230 b. 1,320
» c,.;’ . 3,210 d. none of these
S ' MTP Oct 21

31 A question puper contains 6 questions, each
having an alternative. The number of ways an

S examiner can answer one or more questions is

a. 720 b. 728

g 729 d.  none of these

MTP Jun 23 - Series I

(32) The number of ways of 4 boys and 3 girls are to

be seated for a photograph in a row

alternatively.
a. 24 b. 164
@ 144 d 336

MTP Jun 23 - Sm
(33) The number of 3-digit odd numbers can be
formed using the digits 5,6,7,8, 9 If repetzfzpn IS

allowed? Y
a. 56 Q,;;tf“"75' '
c. 9% d. 45

MTP Jim 23 - Series I
(34) How many numbeis:gf 3 digits can be made by
using dzglts 3 2 6 7am78 no. digit being

repeated. [ L
a. 120 N4 b. 60
& 100 d.  None of these

MTP Jun 23 — Series 11

(35) In how many ways of the word
“MATHEMATICS” be arranged so that the

vowels always occur together?
a. 11217 b.
¢ 120=2)

(81x4!1)=(2!)°

d. None of these

(30) 1f 12 school teams are partzczpatmg inaquiz v

" u-. A Foundation Maths, LR and Stats

@)

Combinations

Past Ycar Questions

A bag'contains 4 red, 3 black nd 2 white balls.

this bag so that they include at least one black
ball? ‘

\gn how many ways 3 balls can be dratwn from

%a 64

W/

)

@

@

CA. Pranav Popat

b. 46
85 d. None of these

If "P. =720 and"C, =120, thenr is
a. 3 b. 4
. 5 4.6

PYQ June19.
If these are 40 guests in a party. If each guest
takes a shake hand with all the remaining
quests. Then the total number of hands shake is

a. 780 b. 840

1,560 d. 1,600 :

In how many ways can 4 people be selected at
random from 6 boys and 4 girls zf there are to be

exactly 2 girls?
a: L a90 b. 360
& N d. 480
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105

we o
]

N APy in

b 201 16) If there af
" ‘ 4 ;| d the number of

d 220
'Q Jan. 21

) A ‘ wishes to multancously a. b. 70
i umq‘bmbmndt heads. In how many ¢ 90 d. 100
ways can these elevations take place ? . . .
" b 3 ., ﬂ) here are 20 points in a plane area. How
¢ 6 d 15 \ v triangles can be formed by these points if§

- PYQ Ju points are colli near?
) 7 boys and 4 girls from which a team of 5 is t a. 550 b. 560
be selected, each team should have atleas

¢ 1130 d. 1140
e
a. (18) If"P =3024 and 'C, =126, then find n ang
- a. 9,4 b. 10,3
“ PYQMay 18 _ : ,
ﬁ e Y i 16
b 998

(19) A committee of 3 women and 4 men is

[ 1,000 formed out of 8 women and 7 men. Mrs, Ki
! ? PYQ June 19 refuses to serve in a committee in wM
(11) ’f C,= d x#4 than the value of Yash is a member, The number  of
committees can be:

a. 20 b, 21 qa. 1530 b. 1500
C. 22 d 23 g, 1520 d. 1540
e - PYQ Jan. 21
(12) C,+2'C , + "C, ,=?
* a. "'Cp b‘ nv]c"
G. mlc’” d. ""CP ‘

55 6 % / Mca Campl CA Foundation Maths, LR an
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i for next roun
play against each other Fb p
§ sy r. Four top
| W of this 'round will qualify for semi-ﬁn::li
o play against each other and then two t
@ms will go to final, where they play the bestoc;"
three mafches. How much minimum numb
matches in the next world cup will be? erOf

FOUmNe

a. 54 b 53

- AnmweKey
1 a 2 a 3 2
i 5 a 6 d
g 8 d 9 d
10 a 11 b 12 b
13 b 14 ¢ 15 a
16 ¢ 7 ¢ 18 a
19 d 20 b

Combinations

Mock Test Paper Qi;estioné<. @
(1) In how many ways 3 prizes out of 5 can.be”
distributed amongst 3 brothers equally

¥ a 10 b 45
23 60 d. 120

-~ MTP Nov 18

@ A Company wishés™top simultaneously
promotes thfee of_’\'ig;s 8 department assistant
mangers. In&\]gow many ways these promotions

can take place?™

a. 336 b. 56

c. 8 d. 1680
- MTP May 19
@) If'P, =336 and "C, =56, then n and r will be

a. (3,2) b. (83)

c. (7,4) d. None

MTP May 19
4) ﬂpils 720 and "C = 120 then value of 115
i 4 bh. 5

—

3 i{ggimilar complete question

How many

colour?

a. 178

c. 198

NP

(7)  “C,+"C, is equal »

a. 16cr3

o 15 i “c, 1

: '

8 In anypys 3 Prizes can be distributed

among’3 students equally '

a. b. 45

c 60 d. 120

ue is incomplete in MTP — refer MTP May 18

@ °C+°C, +°C,+°C,+°Csis eqﬁ;zi o A
a. 30 7 ol
(5 32 30,

10) 5C,+° C,,then v’ is equal o
a. =2 b. 3
G d 5
Note: Que mistake in this MTP refer MTP May 18

que for similar complete que. 15C;, =15€W
 MIP Jur

¢ number ways in which 4 persons can

t seats 15
p. 3024

d. 4536

(11 Th
occupy 9 vacan
a. 6048

(% 1512

(12) How many different groupé iof 3 people can be

formed from @ group of 5 people? ;
bh. 6 gy

i 9 A *

a. 5
@ 10

SR,
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camination paper consists of 12 questions
Jivided into two parts A and B. Part A contains

* 7«questions and Part B contains 5 questions. A
candidate is required to attempt 8 questions

t least 3 from each part, in how many

selecting a

maximum ways can the candidate select the
questions?

a3 b. 175

e 210 d. 420

(17) Find the number of combinations of the I
the word COLLEGE taken four together:

18 168N

e 20

| U

(18) Th?Sdpreme Court Bench consists of 5 judges.

In how many wayw'lch can give a
majority decision?

a. 10 b5

e 15 d 16

L MTP May 18

(19) There 12 queétions to be answered to be Yes or
No. How Many ways this can be answered

1071 b. 2048
c. 409  d. Noneofthese
i MTP May 18
PR C, - C+ .
LT 2'-1 bs 72
ﬂu c G2 ] d. None

CA. Pranav Popat

\ a Y

¢ tuo parts A and B
7 questions and Part B contains 5 que
candidate 15 required to atter

selecting at least 3 from each part

maximum ways can the afndidat

questions?
0. 3

C.

b.
¢) 8 d.

@4), A polygon has 14 diagonals then the num o
~ sides are ' '
P e 2 "3
P o 9

W ¢

b !

"% (25) There are 12 points in a plane which are
collinear no three points is a straight lie, numbe
of triangular that can be formed with the
vertices as there points are:

a. 216 b. 220

c. 110 d. 108
Note: Que is incomplete in MTP — there should be4
collinear points.
(26) The number of diagonals in a polygon of 6 sides

h Y b. 8

c. 6 d 12

MTPN

(27) The number of triangles that can be formed by

choosing the vertices from set of 12 points, sevé
of which lie on the same straight line 8 |
a. 185 b. 175
Caail1s d. 105

i
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a
) -y 4 Viarch b b '
@30) Number ways of painting of aface ofa e by 4 ; =
6 colours is d f
a 30 . e ¢ gl
o i 2 : g
B 0 5\ 2
(31) Aboy has 3 library tickets and 8 pooks of his . e s
interest in the library of these 8, he does not ST ko S
%  want to borrow mathematics part II unless 3 ¢ 35 a 360
mathematics part-1s also borrowed? I how
many ways can he choose the three books to be Q

borrowed? ‘M
a. 41 bY S50t \ \ i

C. 61 d. 71 SN v
- MTP
(32) Xand Y stand in a line with 6 other people.

What is the probability that therﬁglﬁiﬁev%ons
% between them? p ) §

a 15 b.\A/6

c. 17 d W3

Note: Que from Probability.,
%TP Dec 22 — Series I

(33) The numbeﬁﬁa%’*igf painting the faces of a
cube by 6 dﬁ‘fg{@"kolom is
a. 30 b. 36
e: 24 d 1

Note: Repeat MTP Mar 22

\\‘)
)

. MTP June 2023 Series I
(84)  Ifthere are 30 points in a plane of which 5
points are lies on the same line. Then the
number of triangles can be formed?
a. 650 b. 580
(e} 4050 d. 4060

——— —
% Compiler CA Foundation Maths, LR and Stats
e
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(10) The 20" term of arithmetic

terms of an AP is (3n” —n) and

on difference is 6, then its first term is:
o 2
d 1

e 4

(11)

1 jes: 3
Q% ...... must be taken so that the sum may be
480. i

6t term is 38 and 107 te
a. 118
C 178

Divide 69 i

The number of terms of the series: 5+ 7 +

()  Insert two arithmetic means between 68 and
260.
a. 132, 196 b. 130,194
; a 20 b. 10
c. 70, 258 d. Non these », - o _‘_ 25
[ e akads

If the p'* term of an A.P. is ‘g and the g
is p’, then its r" term is

a. : - P& %
(14)
5, 2K+ 10arein A.P., is 15)
a. 13 b.
(% 23 N *
(7)  Ifthe ratio of sum of n terms of two APs is ( nr + :
B 1):(n-1), then the ratio of their m" terms is: (16)

a. (m+1):2m

b. (m+1):(m-1)

@ 2m—-1):(m+1)

4. m:(m—1)
 Note: Extra Lengthy Solution.

e ———
' Compiler CA Foundation Maths, LR and Stats

(13) Ifthe sum of ‘'n

CA. Pranav Popat |

n’ terms of an AP (Arithmetic

Progression) is 2n°, the fifth term i is o
@ 420 b a0
c. 18 d 25

The sum of first n terms an AP is 3n* +5n.The
series is:

a. 8,14,20,26,... b. 8,22,42,68,.
c. 22,68, 114,... d. 8 14,28 4,.

 DVO
] 2

The n" term of the series 9,7,5,.... and

15,12,9,.... are same. Find the n”' term?
a. 7 b. 8

(6} 9 d. 1 0
~ PYQMay

A person pays T 975 in monthly znstallments

each installment is less than former by 5. Thl»‘

amount of 1+ installment is ¥ 100. In what time

will the entire amount be paid?

a. 26 months b. 15 months

¢.  Both(a)&(b)  d. 18 months
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of an

tively, then its 20 ey, 4.
b. 79

d. g1

a

d

(e

a
13 14 15 g
16 17 18 b
19

Arithmetic Progression AP

Mock Test Paper Questioss

(1) If8th term of an AP is 15, the Sum of the 15 its

term is
a. 15 b. 0
(i) 225 d. 225/2

- |
-\ ) MTP May 18

) For what value of x; the sequence x+1, 3x, 4x+2

arein AP?
a. 5 bn 2
G 4 d 5
[ MTP Nov 18
(6] The nth element of the series 1,3,5,7, ......1s
a. 2 b. 2n-1
" 2n+1 d. none of these

e

ON

TP May 18

(7)  Which te

: 4'.@

@)\ The first term of an A.P. is 100 and the sum of
whose first 6 terms is 5 times the sum of the

AP 64, 60, 56, 52....i
b, Ni7
d 14

& “ext 6 terms, then the c.d. is —
a. -10 b. 10
(o) 5 d. none of these

) The sum of n terms of an A.P. is 3n® +n; then
its p' term is
a. 6P+2 b. 6P-2
¢ 6P-1 d.  none of these
Note: Given ans in MTP (c) is incorrect. Correct is (b).
s L

7(10) If three AM's between 3 and 11, they are

a. 4,6,8
b. SO
(e 51, 7 C)
d. 11/2, 15/2, 19/2

an a"heﬁrjsi and the last term of an AP are — 4 and
146. The sum of the terms is 7171. The number

of terms is
a. 101 b. 100
e 99 d.  none of these

(o Wo o LA d | MCQ Compiler CA Foundation Maths, LR and Stats
/| %
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Pofzderms of an AP is 3 —p
on difference is 6, then its term i

Iff

ression is 2n’ , the fifth term is. its
a . 20 b. 50 a b. 2
c. 18 5 c. 4 d 1

equirement should be to find first term by
is incomplete.

(16)  The ratio of sum of first n natural numbers to
that of sum of cubes of first n natural numbers N\

is ) Sum lying from 100 to 300 which is divisibl
as s 316 b. nn+1)/2, V 4and5is .
2/ n(n+1) . S a. 2000 b. 2100
MEP Oct c. 2200 4. 2300
(17)  The sum of progression (a+h), o, A S A

(25) Sum of x terms of o AP s are in the ratio
(3x+5):(5x+3) then ratio of their 10® fe
is

a. 31:49 b. 30:49

c. 28:49 d.  None of these

term is
X . §[2a+(n-—1)b] 4 "[2a+(3—n)b] oo
d.

§[2a+(3—

§[2a+(n - 1)7

YA .

Al st A 1 B3k 2 v
7o d )
R Il i : e

(18)  Find the sumgf fis t twenty-five terms of A.P. ‘ (26) In AP T =qandT =p then T =
] piq  —
series whose nth term is |
nth term is (5+2) ;1 0 b. -(p+q)
105 b 115 L A e

125 d, 135 ¥

19)  The first and fifth term of an AP, of 40 terms (27)  If20 AMs. are inserted between 3 and 51 thet

are-29 and -15 respectively, Find the sum of all sum of these 20 A.M.s is
positive terms of this A.P a. 40 b. 1080
a. 1605 b. 1705 ¢ 270 d.  None of the:
¢ 1805 d. . none of these

—

—_—
mo//er CA Foundat/on Maths, LR and Stats |@e) W2 Popat
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L a b

d b

R b

(-3 a c

¢ b b

b b 21 ¢

¢ b 24 ¢

a a 27 a
28 a

Geometric Progression

Past Year Questions

(1)

2 n 8
The 3" term of a G.P. is% and the 6™ term is

>
—, then the T+ term is
81

a. 6 b. 1

3

o 9 1 d. 2
S PYQ June 19

2 InaG.P. if the fourth term is ‘3’ then the
product of first seven terms is
a. 3°
e, 3°

@ y-1
Y

c y d ¥y
y+1 y-1

(6)

?)

their product 27,000 are:
: a. 10, 30, 90 b. 90, 30, 10
| ; Both (a) & (b)) d. 10,20,30

®

g

et
A

©

ey paeels
1 N -
b
i |
= |
i | :
EM." i Fi :
: “
i

Both (a) & (b) 4

Find the no. of t

In a geometric progression that 31 and 6" terms
are respectively 1 and -1/8. The term (a) and
contmon ratio are respectively.

4 and % i 4 and =
& 4 and _71 ch 4 and &
L R

If the sum and prduct of three numbers in G.P.

are 7 and 8 respectively, then 4 term of the
series is

a. 6 b. 4

e 8 d. 16

(10)  The sum of series 7 + 14 + 21 + ...... to 17t

g

term is:
a. 1071 b. 971
@ 1171 d.o 1271

LA e e
277 "

a 9 b. 6
c 7 d 8

CA. Pranav Popat é MCQ Compiler CA Foundation Maths, LR and Stats
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d r, respectively, then:
R U 15 = ipp
d. pgr+pj+1=0

2 b 3 a

e 5 a 6 ¢

c 8 ¢ 9 ¢

10 a 1 d 12 a
R 8 d % 4 ¢

Geometric Progression

Mock Test Paper Questions

v

@ For what »@, he number _72 X, _77
arein G.P.?
a. +1 b. 3
o +2 d. None

@)  Find the three numbers in G.P, whose sum is 19

and product is 216.
a. 96,40r4,6,9 b. 96,30r3,6,9
.4 9310r13,9 d 93,-1o0r-1,39

' The nth term of the sequence -1,2, - 4, 8,.is

b. !
d.  None of these

-2
z

a.
pe

PW“MMWM‘ LﬂandStat:

(6)  Find the sum to
7777774
B 17 _In
9 9
“10)+ 22
C)
- (10*1-10)- 22
81 9
’ 1(10" = 10)+ﬁ
oy 9
. (7) qux P(7 k) 60P(7 k3) Then
a. K=9 b. K= 8
G K=5 d K=0
Note: From Chp5 PNC
""" E)

(8)  Ifthe pth term of a G.P. is x and the qth term is

y, then find the nth term:
b. ey (p-q) 8
y '

n .l‘_]
(n-p)
d. ’: !
-

JH
v 1 ’x/‘

The sum of the series: 0.5+0.55+0.555+.....rnu8
to n term is:

n

(n-q)

x
L

(n—-p)

Note: Extra Lengthy Solution.

©

a. 5 5 ;
§+§[1—(0.1) ]
B 5w 5 B 3
§_3—1[1'(0'1) ] ‘
5 —+—[1 (0.1 ] 3
d. None

/ CA. Pranav Popat
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K a.
C.

@3) Ina G.P. If the third term of a GP {5 2/ 3 and
6th term is 2/ 81, then the first term is
b. 1/3

a.
C.

6

2 GP .if fourth term is 3 they, the product of
t seven terms is 5% i

35
36

o, 2
gl 2

(14) Sum upto infinity seies
1

19/24
se

g

sion, the second term is

12 and sixth term i.192. Find 11" term.

a.
G,

(17)  The sum 7of”ﬁrst eight te

3072

b. 1536

rms of geometric

progression is five times the sum of the first four
terms. The common ratio is

a.

i

5

4

b. 2
d. 2

CA. Pranayv Popat

"3:;’ p

a

c. 81634 ) \
(21) Four Geg

% ciins between
a. r 50 /324 J‘"

b. , 24, 108, 320 -
C. , 36, 108, 320 R
12, 36, 108, 324

Ry

(22 e sum upto infinity of the series

S=—1-+1+i+ ................ is
b 2 6 18

a. 5

4
b. 3

4
¢ 7

3
: None of these
i 2 a 3
4 4 S5 6°¢
7@ 8 d 9Nh
10 ¢ it @ 12 b
13 a 14 a 159G
16 d 17 b 18 d
198 ¢ 20 d 21
2208h

e ————

MCQ Compiler CA Foundation Maths, LR and Statf ~A '
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Questions

10™1 -9m-10
None of these

o (b+c=a) (c+a=b) (a+b-c) . .p

e 4 ¥ e hT T @
] then a, b, c are in:
a. AP b. GP
g HP d. None of these

Note: HP is out of syllabus.

PYQ No

(3)  Ifthe AM and GM of two numbers is 6.5 and 6!

the no.’s are:
a. 3and 2 b.

9 and 4

(e 81 and 16 : d. one of these \:

@

a. 20
(=} 4 7
I July 21
(5) The sum of three numbers. in a geometrzc
progression is 28. When 7\,{32 and 1 are

¥ subtracted from st, second and the third
numbers  respectively, “then the resulting
numbers a%l etic progression. What is

0

the sum res of the original three
numbers?
a. 510 b. 456
(o) 400 d. 336
Note: Extra lengthy solution.

(6)  The n™ term of the series 3 + 7 + 13 +21+ 31+
e s
a. 4n-1 b.

€ w+n+1 d.

n’ +2n
n+2

Other Problems

Mock Test Paper Questions

(1)  Three numbers are in AP and their s ?
1, 5, 15 are added to them respectively
form a G. P. The number.
a 57,9

28,9

C.

(2)  The sum of v bers in G.P. is 7,

two extrefes byumuitiplied each by 4 an
mean [

ar ]
a. 2,18, 40 b. 10,20,40

40,20,15 d.
Ifa, b, careznAPundx,y,zuremGP then
the value of x0=9). y (€=, z(a=0) 4

a. 1 b. 0

c. b(c-a)  d noneofthese

none of these

@  If a”* =b"" =c"*and a,b,c are in G.P; the xy,
are in: g
a. AP b. G.P
g Both (a) and (b)  d. Noneo these

"’w R v

5) Ifx y and z are the terms in G P, then thet m
X4y xytyz, v+ 2 arein

a. AP b. GP
G- HP d Noneo these

X ;mi\"_—} AR
(GURNTfa —pH =gl thena b, carein GP then x,
y, zarein
a. AP e GE
Gl HP d. AGP

Miecn e ..
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" Find the sum to n terms of the series:
74+77+777+ to n terms: O

- 7 Z(Ioml _10)__7_11
9 9 Q
b. Z(lO"” —10)+ZE
9 9
e ~

_7—(101»1 _10) +_7_E
81 o’

1 a
4 a
7 a




——

Sets

Past Year Questions

(1)  The numbers of proper subset of the set (3, 4, 5,

6,7)is
a. 32 b 3
c 30 d._ 25

BT PYQNov.18
2 IfA=(1,2,3,4567)and B=(2,4,6,38).
Cardinal number of A— B is:
a 4 b. 3
c. 9 d 7
TS PYQ June 19
B) IfA=(1,2,34,567809)

B=(1,3,4,57,8)

C=1(2,6,8) then find (A - B)uC

a. (2,6) b. (2,6,8)
(2,6,89) d.  None of these
o S PYQ June 19
@)  The no. of subsets of the set (3, 4, 5) is:
a 4 b. 8 N
g 16 d 32 ad
#PYQ No. 19
G) (AT =7 =y
g A € VA
GR AT 47 d a7
Note: This que is from matrix (deleted }bpic),
PYQ Now. 20

(6)  Tuwo finite s speetively have x and y
number of ent? The total number of
subsects of th is 56 more than the total

nunber of subsets of the second, The value of x

and y respectively.
4. 6and3 b. 4and?
C  2and4 d 3andé
Lol PYQ Nov. 20

(7)  The set of cubes of the natural number is;

a.  Anull set
b.  Afinite set

¢.  Aninfinite set

d. Afinite set of three numbers

-_—
Compiler CA Foundation Maths, LR and Stats ||

CA. Pranav Popat

CAPRANAV ||

®

Null set

a.
b. A finite set

c An infinite set
d. Singleton set

The number of integers from 1 to 100 g
neither divisible by 3 nor by 5 nor by 7 js
* 67 b. 55 |

¢ 45 }Q :
A PY(
A

(10) Let U be the univers antB are he' R
subsets of U. If n(Ll) =650, 7(A) = 310 :
n(An B)=95and n( 190, then H(An"

)]

is equal o are the complement ofA |
and B‘_'res?gsctive ):
i ,r;‘@:@ox@mﬁ' b. 200
. Q4 d. 245
PYQ Nowv 20, PYQ J

4
(11). Two finite sets have x and y number of

“\ elements. The total number of subsets of ﬁrstisJ
56 more than the total number of subsets of
second. The value of x and y is:

a. 6 and 3 b. 4and?2
G 2 and 4 d 3and4
PYQ)
(12) Given A=(2,3),B=(4,5), C= (5, 6) then
Ax(BNC) is
{25650 b 5253)

¢ {(23)(55))  d. Noneofthese

PYQ Jure22
(13)  If the universal set E=(x : v is positive

integer <25), A=(2,6,8, 14, 22), B= (4, 8,10,
14)
a. (ANB)'=A'"UB’
b, (ANB)'=A'nB’
@ (A'nB)=¢

None of these
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|

oty
A “"""‘Wr,ﬂwnthc'
‘.,. W”S which buon"lyis:
6600 b, 6300
5600 d. 600

ne)

number of items in the set A is ‘ i n |
~ set Bis 32; in the set Cis 50; in both l'\ and B i
. = 4, inboth A and Cis 5; in both Band C 7 in aI?
the sets 2. How many are in at least one if the

set?
a. 110 b. 65

. , PYQ Dec. 21
Qut of a group of 20 teachers in a school, 10
teach Mathematics, 9 teach Physics and 7 teach
%  Chemistry. 4 teach Mathematics and Physics
but none teach both Mathematics and
Chemistry. How many teach Chemistry and

Physics; how many teach only Physics? %
2 ) ) “%

q. 250 b. 3, 2 y—

B 46 d.

6,4 \
pYQDeg22"
@) IfA=(123457.89) andB= (2,467,9) then
how many proper subset of VW™
AnB 4

(A—B)U(B—A)
AxB
A'UB’ S, can be created?
weAyer
[fog(3)- gof (31

2xfoi‘°—5i‘§3
f(x)= x2f0r1<xs3

3x for x<1

p. 15

. d 31
2 " pyQDec.22

A
- 0,1,2 3)is

The number of subsets of the set (
a 2 b. 4

" 8 d. 16

(20) 1f A= (0,b, ), B = (b, ¢, d) and C=

(A=B)x(BNC) is equal to:
a {(@d)(ed) b

{(c.a)(d,)

wotad)
(a,0)(a,d)(b,d)

b ¢
b Q 4
790 ¢ 9 ¢
10 d Oza 12 a
4 a 15 . ¢

d

13 a .
16 17 b 18
19 d 20 b

(1)

)

3)

Sets

Mock Test Paper Questions

The number of proper subsets of the set {3, 4, 5,

6,7} 1s
a. 32 b.
c. 30 d

IfA and B are two sets A= {1, ,2-/3, A
{2,3 4} then (A-B)U(B—A)

a. {1

b L2s

c. {13}

4 {12 A

The number bf subééts { 1,2,

a. 3 b. 8

& 6 de g

A .

(4) ,p A= 1,2,3,4,56,7) and B=1{2,4,6} Cardinal

aumber of AUB

a 3 16

s

—

Mca,_comP

=

eae IET R ad

Scanned with CamScanner




‘(A'UB)' b. A' P B;
A'UB’ d. none of these

9 IfA={pqrs} B={qs, thandC={m,q,

- nj find C-(AnB)
g a.  (mn} b. {pq
¢ (sl d_lp1l

(10)  The set having no element is called

a Singleton set
b. Null set
(7 Finite set

d. Inﬁnite set

A1) IfA=11,2,3 4,5 and B-{6%, 89), then

cardinal number B is:
a. 20 L
| ¢ 3 ! ’ d 8

. MTP March 21
(12) ' The number of subsets of theset A={1,2, 3,4,

56,7, 8is

a. 36 b. 128

c. 256 d.  None of these
H_t MIPMZ‘!
‘ IfA=(1,2345)B=(24)and C=(13,5) then
~ (AO)xBis

a  22),(24),42),44),(52),(54)

b (22),(24),(4,2),(44), (52), (54)}
((2,2),(4,2), (44), 4,5))
122),(24),(42),(44))

g
h.m'l*

615) I," A= {605}l - {2,3}, C' 5,

s
a.  ((25) (3.5)} b.
C [ (4/3)1 (412)} d none o,

6) IfA=(1,23)B=13

vé‘ V’-’

(1 7) Two fiuite sets have m andn elements y

number of subsets of first set is 56 more t
the total number of subsets of the second set,

The value of m and n are

a. 6,3 b. 76
(& 5,1 d 87
MTP Dec
(18)  The number of proper subset of the set {3, 4,9
6,7}is
a. 32 b. 31
C. 30 d 25
MTP Dec 22 §

(19)  Let A be the set of squares of natural numbers
and let xe A,y e A, then

* a. X+yeA b. x—yeA
ieA d xyeA
Yy

(20) A town has a total population of 50,000. Outof
it 28,000 read the newspaper X and 23,000 read
Y while 4,000 read both the papers. The nunbe
of persons not reading X and Y both is
a. 2,000 b. 3,000
2 2,500 d.  none of these
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@3) Out of total 150 students, 45 passed in

*

‘2‘) ’fA = (0,1,2,3,4,5) ”lg" tht’ "u’nbiiirﬁll ;f’ .
7

thOfﬁudmfswmaWHMw
quEngﬁshmdwmspmkumm

English both, then number of students is:
a 100 b. 140
(3 1380 j d. 60

 Series IT

Accounts, 30 in Economics and 50 in Maths, 30

in both Accounts and Maths, 32 m both Maths

and Economics, 35 in both Accounts and

Economics, 25 students passed in all the three

subjects. Find the numbers who passed at least

in any one of the subjects:

a. 63 b. 53 \
- N:

G 73 d.  none of these N

MTP June 2023

of Ass _ S’
a. 64 b'}gﬁ N
C 61 d. 60

MTP Jibne 2023 Series I

@5) The number of prapeg_subsets of ANB, A=

(1,234,5,7,8,9,10 et B*=(2,4,6,7,9)

a. 8 b. 15
C 16 N d 64
= =
L N MTP June 2023 Series IT

@6) Out of 20 members in a family, 11 like to take

tea and 14 like coffee. Assume that each one
likes at least one of the two drinks. Find how
many like both coffee and tea:

a 2 b. 3

C B d 5

ﬂ CA. Pranav Popat

(m

.Q#(z, 2,3,4, ...... 10) a relation on A,
~ R={(x,y)/x+y=10,xeA,yeA,ny}ﬂnm

%,

b.
c
d

from A and B:
b. 16
d 6

b e

domain of R is
a.

(1,2,3,4,5)
©,3,5,7,9)
(1,2,4,5,6,7)
None of these

() In the set of all straight lines ona plane which
of the following is not ‘TRUE’?

a. Parallel to an equivalence relation
b. Perpendicular to is a symmetric relation
C. Perpendicular to is an equivalence
relation
d.  Parallel to a reflexive relation
(4)  Ifaisrelated to b if and only if the dij in

a and b is an even integer. This relation is

Ao SR

Symmetric, reflexive but not transitive
Symmetric, transitive but not reflexive
Transitive, reflexive but not symmetric
Equivalence relation
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R={(1,2),(2, 3)} on the set
simum number of ordered

IfR be a relation defined on the set of Natural
umbers as” xRy < (x—y) is divisible by 5”
vx,yeN then the relation R is

a.  Equivalence

b Anti-symmetric

c.  Symmetric but not transitive
d.  Symmetric but not reflexive

N
| A

Relations

Mock Test Paper Questions

MTP May 18
na plane the Relation “is

@

a.  Reflexive b.  Symmetric
c.  Transitive _d. None of these
LY MTP Nov 18
(2)  On the set of lines, bezng Perpendzcular isa
relation.

- a. Reflexive
o

- b Symmetric
k c Transitive
4. None of these

Functions

Past Year Questions
i 'T < -

o ey ‘-L'i

- Let N be the set of all I numbers; E ey
set of all even 1 [ bers then the

function;
s f(x)=2x,xeN

d1|

c. ne-One Onto
d. any-One Onto

P LJTJ\J D1

y o ﬁmction fis defined from set A to B where
f(x)=x then the range of f is:

a.  (1,2,3,4) b. (1,49, 16)

¢ (1,4,9,16,25) d. None of these
PYQ Nov.1§
(3)  Identify the function from the following:
{(1,1),(1,2),(1,3)}

b {(11)(21),(2,3))
¢ {(1,2)(2,2)(3,2),(4,2)}
d. None of these

R

PYQ June 19,

@ If f(x)=x" and g(x) =[x then

a.  gof(3)=3 b. gof(-3)=9 !
¢ gofi9)=3 d. gofi-9)=3
PYQ Jureld

) IfA=(a,b,c d);B=(p,q,r, s) whichof the
following relation is a function from A to B

g
@ R ={(a,p)(b,q)(c,s)}
b R, ={(p,a),(b,r),(d,s5))
¢ Ri={p)(cs) )
@ R={ap),r)(cq)(ds)
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The inverse function f ' of f ) =3y is:
7 13y b y/3
s d. 1/

© Letf:R=R be defined by

2x for x> 3
# flx)=4x" for 1<x<3
3x for x<1
The value of f(-1) + f(2) + f(4) is
a 9 b. 14 =
i 5 d. 6 “}’&) If f(x): N >R is a function defined as
‘ : PYQJuly 2 '{ f(x)=4x+3, YxeN, then f(x) is;
(10) The range of the function f defined by ’ . i3 b . xhd
fx)=l16-+" is %S i y
B (40 b (-4, 4 'Q*,i/ ¢  x-3 d. 3x+4
c. [04] d. (d 4V =
B N PYQ July 21 Answer K
(1) Let A=R-(3)and B =R-(T); Lef fx) B I c 2 b A
A =2 #\.25:. 4 a 5 d 6 d
% defined by f(x) = 3 What i5'the value of 7 4 8 b 9 4
1 “:‘ i, 10 ¢ 11 ¢ 12 b
{ 16 ¢
. 23N/ b 34
N d -1
' PYQ July 21

(12) IfF(x)=x"-1and g(x)= |2x+3|, then

" [ fog(3)— gof (-3)]is ?
a 71 b. 61
| ¢ 41 d. 51

MCQ Compller CA Foundation Maths, LR ¢
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None of these

etk 4 (222 thenfis
4 el =

od set A to B where flx) = x

b. {1,49,16}
d. noneo, these

@) Ifft)=x+3and g(x)=x?, then fog(x)

a 43 b K +x+3
c 2 d.  Noneof th Sk
& MTP M e\;); S::es o (12) Let Ris the set of real numbers such thut the
@ Aﬁmctzonﬂx) S evenfutzo, if function f: R —Rand g:R —>Rare deﬁnedby
6o —f)=fx) i) = flx) by fix) = +3x-+1 and g(x) = 2x-3. Find (fog),
b x*+6x+1

c. fl'(—x) —ﬁx) : d _ None of these @ a. 4P +6x+1
MaleSerzesIK ‘ % ¢ 4x*—6x+l d  x'—6x+1
MTP Apr 21

®)  Find the fo g for the funchons fl)=x )
: T 13) FA={1234},B={2468}, f(1)=2 f(2)=4,

Gl

2. x(x+1) b ¥ ? f3)=6and fi4)=8, and f A — B then " is:

v S A o {(21),42),(63) (54)
[ Q {TP Nov 19 ((12), 24), (3,6), (4,8)}

b
® - [ Jthm o o 104,02 66)48)

none of these
2o b 2 MTP Nov21
C 4 L] (14) Iffix) = x*-1and g(x) = 2x+3 then gof(3)
Note: From Chp8 Cal a. 71 b. 61
| MTP Nov 19 ¢ 41 d 19
@ If f'(x)= 3026 f(0)—0 then find f(2). MTP Oct 21
e g b 10 (15)  Find g o f for the functions f(x)= Jx,
@ 1 d. none of these g(x)=2x"+1,
‘.' 3 ICAI SM, MTP May 20
®) . x—1’ Y ’ a. 22 +1 b 2u+1
Iff(x)=m and g(x)=T,thengof(x)zs c. (2 +D(x) d N
a. o] %
G 1/x d.  none of these
e
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ff R R.is a function, defined by x) =%

19 Ifflx)=x+2, g(x) T thangof(x)_ e
a. T x+2.7F b.. 7*+2

¢ 4%7) d none of these

e :.~ v MTP June 2 ) «I (26) e rdﬁge otlaon

(00) LetRbea relatzon on N defined by X+2y=8. K \,‘: {(1.0)2,0)3,0)(4,0)0,0) } is

The domain of R is: =) 2 {12,340 b {0}

a Z : 2 i ¢ {1234 d.  None of these

G 7 Ly ~ T T

R - AnswerKey RINTN

o) 1 d 2800 3 a

The domain of the functio 4 b 5 d 6 ¢

3 78,6 8§ b CaN.

B ” 10 ¢ 11 a 1288

2. R O U R-1L4 13 4 14 d 15 b

(& R_{l} ‘1}\ d. (1, 4) ' 16 b 17 a 18 b

2 MTP Dec 22 — Series I 19 ¢ 20 ¢ 21 b
1§

f(p)=—Nthafl 1is 22 b 23 a 24 ¢
@) 1-p 25 a 2 b

a.  1p b. p-1

p
(25 pe d. v
p-1
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